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Question Id : 9380663959 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year

School 2023 2024
Number of Passed|Percentage of Number of Passed[Percentage of
Students [Passed Girls Students Passed Girls

A 500 46% 550 44%

B 600 42% 640 40%

e 650 56% 560 45%

D 720 60% 800 48%

E 600 54% 840 55%

F 650 50% 750 36%

Sub questions

Question Number : 1 Question Id : 9380663960 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average number of boys who passed in the 10+2 examination in the year 2024 from
all the six schools (A-F) together?

1.376
2.377
3.378
4. 379

Options :

93806615401. 1
93806615402. 2
93806615403. 3
93806615404. 4

Question Number : 2 Question Id : 9380663961 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of boys who passed from School A in 2023 to the number of girls
who passed from School E in the year 2023?
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Options :

93806615405. 1
93806615406. 2
93806615407. 3



93806615408. 4

Question Number : 3 Question Id : 9380663962 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For School F, the number of boys who passed in the year 2024 is approximately % more
than that in 2023.

.42.5
.47.7
328
4.57.5

Options :

93806615409. 1
93806615410. 2
93806615411. 3
93806615412. 4

Tad [d =

Question Number : 4 Question Id : 9380663963 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The average number of girls who passed in the year 2024 from all the six schools is % of
the number of students who passed from School A in the year 2023.

1611
2,622
3.633
4. 64.4

Options :

93806615413. 1
93806615414. 2
93806615415. 3
93806615416. 4

Question Number : 5 Question Id : 9380663964 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Number of boys who passed in the examination is more than 300 in the year 2023 as well as in
2024 in only schools.

L. two
2. three

3. four
4. five

Options :

93806615417. 1
93806615418. 2
93806615419. 3
93806615420. 4



Question Id : 9380663959 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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A 500 16% 550 44%

B 600 42% 640 40%

C 650 56% 560 45%

D 720 60% 800 48%

E 600 54% 840 55%

Ig 650 50% 750 36%

Sub questions

Question Number : 1 Question Id : 9380663960 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

vl &g faenadl (A-F) & fHd®R dgi O 9y 2024 H 10+2 G311 H Sl didd! &t 3id
e 1 82

1.376

2377

3.378

4. 379
Options :
93806615401. 1
93806615402. 2
93806615403. 3
93806615404. 4

Question Number : 2 Question Id : 9380663961 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :



93806615405. 1
93806615406. 2
93806615407. 3
93806615408. 4

Question Number : 3 Question Id : 9380663962 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ﬁﬂWF%W%ﬁzﬂmﬁﬁﬂﬁWHﬂﬂwaﬁmB o 30l ddd | D1 BT Y T
%31% |

.42.5
.47.7
.32.8
4.57.5
Options :
93806615409. 1
93806615410. 2
93806615411. 3
93806615412. 4
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Question Number : 4 Question Id : 9380663963 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gy 2024 H g4t &g faeredl A 3ol aifcrdiail &t 3fiad e ay 2023 H fdeay A 9 3divf
faeniar &t e &1 % g

1. 611
26272
3.63.3
4.64.4
Options :
93806615413. 1
93806615414. 2
93806615415. 3
93806615416. 4

Question Number : 5 Question Id : 9380663964 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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|
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4. 09
Options :
93806615417. 1



93806615418. 2
93806615419. 3
93806615420. 4

Sub-Section Number : 2
Sub-Section Id : 938066164
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9380663965 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The role of a teacher in supporting experiential learning can't be of a/ the

1. Coach

2. Mentor

3. Tutor

4. Technology
Options :
93806615421. 1
93806615422. 2
93806615423. 3
93806615424. 4

Question Number : 6 Question Id : 9380663965 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806615421. 1
93806615422. 2
93806615423. 3
93806615424. 4



Question Number : 7 Question Id : 9380663966 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not considered as self- generated feedback?

1. Assurance
2. Previewing
3. Retracing
4. Observation
Options :
93806615425. 1
93806615426. 2
93806615427. 3
93806615428. 4

Question Number : 7 Question Id : 9380663966 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafafed o 9 fod w304 ufayf® =gi a1 §irdr g2
. MY

2. Q&R ST
3. URY Y 3AddihA
4. GUdeu

Options :

93806615425. 1
93806615426. 2
93806615427. 3
93806615428. 4



Question Number : 8 Question Id : 9380663967 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the level of Bloom's Taxonomy from lower to higher order in the cognitive domain

A. Analyzing

B. Understanding
C. Applying

D. Evaluating

E. Remembering

Choose the correct answer from the options given below:

L BB AD
2B B, CA D
.E,B CD,A
4. E,B,D,A,C

Options :

93806615429. 1
93806615430. 2
93806615431. 3
93806615432. 4

Question Number : 8 Question Id : 9380663967 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806615429. 1
93806615430. 2
93806615431. 3
93806615432. 4



Question Number : 9 Question Id : 9380663968 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are known as Assessment Instruments?

A, Tests

B. Examinations
C. Rubrics

D. Worksheets
E. Quizzes

Choose the correct answer from the options given below:

1. A, B and E Only
2.B, C.D and E Only
3.D and E Only
4. A, B, D and E Only
Options :
93806615433. 1
93806615434. 2
93806615435. 3
93806615436. 4

Question Number : 9 Question Id : 9380663968 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

EfeIRad § 9 by 3fidheid &1 TIe= JH1 91T g2

A. X

B. Wilam
c. fAdzH
D. 3Hfe
E. U4l

4 few T fasb et # 1 91 SR I

1.Hdd A, B3R E
2. Hdd B, C.D3RE
3. $H3d D 3ARE
4. HAA A, B.D 3R E
Options :
93806615433. 1
93806615434. 2
93806615435. 3
93806615436. 4



Question Number : 10 Question Id : 9380663969 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

investment

LISTI LIST-II
{(Principle) {(Implication)

A Encouraging student's deep approaches | Feed back should be embedded within

" to learning objectives " |assessment practices.
B The summative and formative I Task design should be approached from

'| assessments to be learning oriented " |a program-wide perspective.
C.|Facilitating dialogic forms of feed back |III. | Greater sense of ownership by students
D Involving some personal student v A variety of assessment for student

motivation.

Choose the correct answer from the options given below:

1. A-1, B-1I, C-1II, D-IV
2. A-1I, B-1V, C-1, D-IIT’
3. A-IV, B-1I, C-III, D-1
4. A-III, B-1, C-II, D-IV

Options :

93806615437. 1
93806615438. 2
93806615439. 3
93806615440. 4




Question Number : 10 Question Id : 9380663969 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-I1, C-II1, D-IV
2. A-1L, B-1IV, C-1, D-IIT
3. A-IV, B-1I, C-III, D-1
4. A1 B-1, C-1II, D-IV

Options :

93806615437. 1
93806615438. 2
93806615439. 3
93806615440. 4

Question Number : 11 Question Id : 9380663970 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What 1s not a Research?

1. Research is a careful and exhaustive investigation of a phenomenon with an objective of
advancing knowledge.
2. It is a systematic and objective attempt to study a problem for the purpose of deriving
general principles.
3. Research 1s based on common sense knowledge, based on the accumulated experiences and
beliefs of the people.
4. It 1s a systematic investigation to find solutions to a problem.

Options :

93806615441. 1
93806615442. 2
93806615443. 3
93806615444. 4




Question Number : 11 Question Id : 9380663970 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806615441. 1
93806615442. 2
93806615443. 3
93806615444. 4

Question Number : 12 Question Id : 9380663971 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Scientific Observations are based on

1. Verifiable evidence or systematic body of proof that can be cited.
2. Accumulated experiences
3. Prejudices
4. Beliefs of the people
Options :
93806615445. 1
93806615446. 2
93806615447. 3
93806615448. 4

Question Number : 12 Question Id : 9380663971 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a1 erur (A9 H U T R 3eTiRd gidl 82
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Options :
93806615445. 1
93806615446. 2
93806615447. 3
93806615448. 4




Question Number : 13 Question Id : 9380663972 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For different sets of datasets X and Y, correlation coefficient between X and Y, that is R and
standard deviation of X and Y, that 1s, S(X) and S(Y) are given in A-D below. Estimate the
covariance between X and Y for each dataset and arrange in ascending order.

A.R=0.5,
B.R=4/7,
C.R=4.7,

S(X)= 8,
S(X)=17,
SiX—12,

S(Y)= 10
SLY =9
S(Y)=5

D.R=19/42, S(X)=14, S(Y)=6

Choose the correct answer from the options given below:

Options :

93806615449. 1
93806615450. 2
93806615451. 3
93806615452. 4

Question Number : 13 Question Id : 9380663972 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sleel & T fiF =gl x d Y
fael 31U S(X) and S(Y) I [&Q1 AT 81 TP SIETUC 8 X 9 Y D Sid D YgUERY Bl
3Thal- HIfoIU 3R Y RIS HH H HARRUT HIfT:

A.R=05 SX)yF8 5SYr-1o
B.R=4/7, S(X=7, S(Y)=9
C.R=0.7, SXy=12, S(YyF=35
D.R=19/42, S(X)=14, S(Y)=6
I feu e fam el o 4 Ogl 3R IH:
I1.B,A.D C
2.C.BAD
3.B.D.A €
4.A,.C.D,B
Options :

93806615449. 1
93806615450. 2
93806615451. 3
93806615452. 4
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Question Number : 14 Question Id : 9380663973 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Criteria for Hypotheses construction are

A. It should describe one issue only.

B. It should describe many issues.

C. It should specify variables between which the relationship is to be established.
D. It should be specific and precise.

E. It should be empirically testable, whether it is right or wrong.

Choose the correct answer from the options given below:

1. B Only
2. A, B and C Only
3.A,C,DandE Only
4. A, B, C and D Only
Options :
93806615453. 1
93806615454. 2
93806615455. 3
93806615456. 4

Question Number : 14 Question Id : 9380663973 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Oldd el Tl gd HHES o
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4 few T fasb et # 1 91 SR I

. Hdd B
2. Had A, B 3R C
3. HId A, C,D 3R E
4. Hdd A, B, C 3R D
Options :
93806615453. 1
93806615454. 2
93806615455. 3
93806615456. 4




Question Number : 15 Question Id : 9380663974 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1
(Concepts)

LIST-II
(Meanings)

.| Theory

Generalized representations of a system
or an object, that is constructed to some
aspects of that system or the system as a
whole.

.| Model

I

Research problem is represented by a
mathematical model.

Survey

I1I.

It is a set of systematically interrelated
propositions that explain and predict a
phenomenon or a fact.

D.

Modeling

IV.

It is a data collection technique using a
questionnaire.

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-1IV, B-1II, C-11, D-1
3. A-IL B-III, C-IV, D-1
4. A-1IL, B-1, C-IV, D-II

Options :

93806615457. 1
93806615458. 2
93806615459. 3
93806615460. 4




Question Number : 15 Question Id : 9380663974 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-1II, D-IV
2. A-1V, B-11I, C-I1, D-1
3. AL B-1II, C-IV, D-1
4. A-II1, B-1, C-IV, D-II

Options :

93806615457. 1
93806615458. 2
93806615459. 3
93806615460. 4

Question Number : 16 Question Id : 9380663975 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a person is talking to himself/ herself or contemplating or dreaming while in sleep, then

this type of communication is known as

1. Inter-personal
2. Intra-personal
3. Inter-cultural
4. Inter-national

Options :

93806615461. 1
93806615462. 2
93806615463. 3
93806615464. 4




Question Number : 16 Question Id : 9380663975 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ol Dy Aidd W@ U d1d DY g1 oidl o 34dl [Haawd H Uid 24l WY o[ Gl gidl o, di
TUUSGR HTHIR MU ST AOg.

1. 3{ddafaad
2. 3f=-dUfadd
3. Ui idd
4. ARPE
Options :
93806615461. 1
93806615462. 2
93806615463. 3
93806615464. 4

Question Number : 17 Question Id : 9380663976 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the sender has not formulated the idea, thought or message in proper manner, it can result into a
barrier in communication. The barrier occurs at what level?

l. Transmission stage

2. At the end of the decoder
3. At the level of the encoder
4. Technical stage

Options :

93806615465. 1
93806615466. 2
93806615467. 3
93806615468. 4

Question Number : 17 Question Id : 9380663976 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gie Uud - [9aR, Ui 3{Udl Y& BT Yfd =0 Y F=uv) 781 fhar ¢ 1 gg YaR ¥ 3fariy
&9 9D dl 8| U8 IR fHY TR W gl Ybhdl g2

1. GaR0 IR0
2. f[adddd & 3id
3. Udhdd b TR IR
4. ddb-Tdh! TR]
Options :
93806615465. 1
93806615466. 2
93806615467. 3
93806615468. 4



Question Number : 18 Question Id : 9380663977 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As of February 28, 2025, write the highest grossing Indian films starting from highest grossing to
the lowest grossing.

A. Bahubali-2
B.RRR

C. Pushpa-2

D. KGF- Chapter 2
E. Dangal

Choose the correct answer from the options given below:

1.E.A,C,B,D

2LAB CDE

3.3 BLADEC

4.D.B,C,AE
Options :

93806615469. 1
93806615470. 2
93806615471. 3
93806615472 4

Question Number : 18 Question Id : 9380663977 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806615469. 1
93806615470. 2
93806615471. 3
93806615472 4



Question Number : 19 Question Id : 9380663978 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are some media organisations?

A. Registrar of Newspaper for India (RNI)

B. National Institute of Fashion Technology (NIFT)

C. The Press Council of India (PCI)

D. Audit Bureau of Circulation Ltd (ABC)

E. University School of Mass Communication (USMC)

Choose the correct answer from the options given below:

1. B and E Only

2. Aand B Only

3. A, Cand D Only

4. A, B and C Only
Options :
93806615473. 1
93806615474. 2
93806615475. 3
93806615476. 4

Question Number : 19 Question Id : 9380663978 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7% 7 9 PH-oH Hifsa 916 82

A. YRd & AR TF Uoidh (3R T 313)

B. AP B U] YR (TT 3175 Th )

C. YRTg UG uRug (i 3t 81iE)

D. sn%fqﬁmﬂﬁﬁmﬁ*r (T{Eﬁﬂ)

E. gHaRidl Wd 3ilth 91 b RH (g Uy Uy dh)

4 few T faab et # 1 9l SR 9

. %dd B AR E

2. Hadd A 3B

3. HAd A, C IR D

4. Had A, B3R C
Options :
93806615473. 1
93806615474. 2
93806615475.3
93806615476. 4




Question Number : 20 Question Id : 9380663979 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Films) (Year of release)
A.|Mugle Azam I. |1975
B.|Sholay II. | 1973
C.|Bobby IT1.] 1989
D.|Maine Pyar Kiya IV.[ 1960

Choose the correct answer from the options given below:

1. A-I, B-11, C-III, D-IV
2. A-IV, B-1, C-11, D-III
3. A-IV, B-1II, C-II, D-1
4. A-IIT, B-II, C-IV, D-1

Options :

93806615477. 1

93806615478. 2

93806615479. 3

93806615480. 4

Question Number : 20 Question Id : 9380663979 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

e i ad
I UG SE I |1975
B.| 2 0. [ 1973
C.|didl I11.| 1989
D.| 84 WR & IV. | 1960
AId feu Y fadhetl & 4 Il SR &1 94+ Pifoll ;

1. A-1, B-II, C-IIL, D-IV
2. A-1V, B-1, C-11, D-III
3.A- IV, B-II0, C-I1, D-1
4, A-II1, B-II, C-IV, D-1

Options :

93806615477. 1

93806615478. 2

93806615479. 3

93806615480. 4



Question Number : 21 Question Id : 9380663980 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong term in the series given below:
3,12, 36, 144,432, 1738, 5184

I E2
2.432
3.1738
4.5184

Options :

93806615481. 1
93806615482. 2
93806615483. 3
93806615484. 4

Question Number : 21 Question Id : 9380663980 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
5 T Teld T B Udl Td:
3,12, 36, 144,432, 1738, 5184

12

. 432
. 1738
4.5184

Options :

93806615481. 1
93806615482. 2
93806615483. 3
93806615484. 4

Tad [nd =

Question Number : 22 Question Id : 9380663981 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language ‘GERMANY" is coded as 9, 7, 20, 15, 3, 16, 27. How ‘FRANCE" will
be coded in this language?

1.7, 19.2,15,4,.6

2.8,20,30,16,5,7

3.8.20.3 16.5,.7

4.6,18,1,14,3,5
Options :

93806615485. 1
93806615486. 2
93806615487. 3
93806615488. 4



Question Number : 22 Question Id : 9380663981 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DIdUY YN T ‘GERMANY” Dl 9, 7, 20, 15, 3, 16, 27 & U H pds [hdl 11 g dl Sugdd
YIS H ‘FRANCE’ | $U Ddg [bdl S

1.7,19,2,15,4,6

2.8,20,30,16,5,7

3.8,20,3,16,5,7

4.6,18,1,14,3,5
Options :

93806615485. 1
93806615486. 2
93806615487. 3
93806615488. 4

Question Number : 23 Question Id : 9380663982 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The interest earned on ¥ 8000 when invested in some scheme for 2 years at 7 % simple interest,
per annum is half of the interest earned on another amount P invested for five years in the same
scheme at the same rate of interest. Find the value of P.

1. 26200
2.26000
3.36400
4. 5000
Options :
93806615489. 1
93806615490. 2
93806615491. 3
93806615492. 4

Question Number : 23 Question Id : 9380663982 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el Ao H 2 9y & oY ufday 79 & AIURYI s416 UR (A= &1 115 Y-RIET 2 8000 UR 3ol
ST 34T AISHTH 5 94 & o7 39 o191 &3 UR 1R &1 715 319 Y=RI2 P WR 3{fold sI1o] Bl
31T g | <l 4RI P 1 Hed A DI |

1.2 6200
2.26000
3.36400
4.2 5000

Options :

93806615489. 1
93806615490. 2
93806615491. 3
93806615492. 4



Question Number : 24 Question Id : 9380663983 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement(s) is/are true?

A. Speed of x m/sec is equal to x% km/hr.

B. If a train runs at E of its usual speed, it gets late by 10 minutes. The usual time of the train to

6
cover the journey is 40 minutes.

: ; 2
C. A car moves at the speed of 80 Km/hr. The speed of the car in meters per second is 22 5

D. A person crosses a 600 m long street in 5 minutes. The speed of the person in Km per hour is
T2

Choose the correct answer from the options given below:

1. A, B and C Only
2. Aand B Only
3.B, C and D Only
4. C and D Only
Options :
93806615493. 1
93806615494. 2
93806615495. 3
93806615496. 4



Question Number : 24 Question Id : 9380663983 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 3 ®H WA $YF I8l 82

A.xlﬂ.fﬁ.aﬁﬁﬁx%%ﬁﬂ%%w%

B.Uﬁﬁémaﬁﬂmﬂﬁésgwﬁm%aﬁgﬁ 10 e I g gl

3 I DI R B T YS! bl JEdT 40 [ &1 Y9 I gl
c.qaaar{saﬁ.m,.-ﬁ%aﬁrrm@aam%lwﬁnﬁmﬂauﬁmﬁng R

D.W?ﬁﬁﬂﬂ%ﬁﬁﬁﬁﬁ%ﬁ@ﬂ%l 39 HAfdd &1 7id fb. A ufd g |
125l

-4 feu e fad et # 4 Ul SR I

1. $dd A, B3R C
2. Had A 3R B
3. HId B, C 3R D
4. ®ad C 3R D

Options :

93806615493. 1
93806615494. 2
93806615495. 3
93806615496. 4

Question Number : 25 Question Id : 9380663984 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A person takes a loan of ¥ 5000 at 5% simple interest. He returns ¥ 3000 at the end of one year.
How much he would have to pay, in order to clear his dues, at the end of 2 years?

1. ¥ 2450
2.%2500
3.% 2350
4. %2400

Options :

93806615497. 1
93806615498. 2
93806615499. 3
93806615500. 4



Question Number : 25 Question Id : 9380663984 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

D5 Aldd 5% TTHURU] &S U BT oidl ¢ | 98 UP gy €1G 34 2 3000 dleldl gl 2 9y & 3
o 3Y ¢ 44 IbH o T fha-t ¢=RIR &1 gl

1.3 2450
2.22500
3. 3235
4.7 2400
Options :
93806615497. 1
93806615498. 2
93806615499. 3
93806615500. 4

Question Number : 26 Question Id : 9380663985 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following statement- "I can expect that you would not find any
moral issue in making abortion illegal, since your ability to feel sympathy for the rights of
women in general is very limited?

1. Begging the question
2. Ad Hominem
3. Hasty generalisation
4. Slippery slope
Options :
93806615501. 1
93806615502. 2
93806615503. 3
93806615504. 4



Question Number : 26 Question Id : 9380663985 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ffifad ou H B9 ddhaly e g-
T} ST B Febell g b MU Bl TR BT S4H H 3MUD] S fdd Tl S, Hifd
Afgar3 & MUHRI & o7t UgHUIT HggH B Bl UD] &N MR WR 9gd HifHd g7

1. ATHIYI N
2. Hfdd TR 3THTd
3, AR GHHRT

4. T Oe1gad eaH

Options :

93806615501. 1
93806615502. 2
93806615503. 3
93806615504. 4

Question Number : 27 Question Id : 9380663986 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. No soaps are writing-tools.
B. All soaps are non-writing-tools.
C. No non-writing-tools are soaps.
D. No writing-tools are soaps.

Choose the correct answer from the options given below:

l. Aand D Only
2. A, B and D Only
3.B and C Only
4. A and C Only

Options :

93806615505. 1
93806615506. 2
93806615507. 3
93806615508. 4



Question Number : 27 Question Id : 9380663986 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAafefad § O - A oyF difde =P O gaH g2

A. Dl I I TaH-3UHR01 g1 BT g |

B. Tl W TR SUHR0 Bld ¢ |

C. Dis Yl TR-G4 IUDH0 HIg- g1 g g
D. ®ls i oG- SUBRU Ui =gl gldl g

fid feu g fasbedl # 1 91 Sk I

1. $dd A 3R D
2. %had A, B 3R D
3. HIAB AR C
4. HAd AR C

Options :

93806615505. 1
93806615506. 2
93806615507. 3
93806615508. 4

Question Number : 28 Question Id : 9380663987 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be false, though they can
both be true?

A. Some poems are artworks.

B. All poems are artworks.

C. Some poems are not artworks.
D. Some artworks are poems.

Choose the correct answer from the options given below:

1. Aand D Only
2. Aand C Only
3.B and C Only
4. A and B Only
Options :
93806615509. 1
93806615510. 2
93806615511. 3
93806615512. 4



Question Number : 28 Question Id : 9380663987 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaRad 7 9 oiA- ufagftaal 39 veR d&6fid § fb d gHf s/ A8l gl Uadl, graifd d
&Il 9 g1 gddl g2

A. DS DA DeAlpiddl gl o
B. Yl Hiqa1l Herpiaai gidi g
C. S biddil defipfadl g1 gidi g
D. $S HdIDiadl Hiddrd gidl g1

1< fau v fadedt @ € Tl ST I

|.Hdd A 3R D
2. Had AR C
3. HadB AR C
4. had A 3R B
Options :
93806615509. 1
93806615510. 2
93806615511. 3
93806615512. 4

Question Number : 29 Question Id : 9380663988 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing denotation.

A. Chess
B. Board games
C. Sports
D. Indoor games

Choose the correct answer from the options given below:

B, ¢, D

-

1. A
A
3L
4. A,

m"t:u
oW P
A > w

Options :

93806615513. 1
93806615514. 2
93806615515. 3
93806615516. 4



Question Number : 29 Question Id : 9380663988 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F4feiRad Ug &l d¢d 9¥add & HH H 4afyd HIfI:

A. QA
B.dle 1R

C. gdda
D. 3SR IH]

fid feu g fasbedl # 1 91 Sk I

1.LA.B,C.D

2.C,D.A.B

3.C,D,B,A

4.A.B,.D,.C
Options :

93806615513. 1
93806615514. 2
93806615515. 3
93806615516. 4

Question Number : 30 Question Id : 9380663989 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"The world is an effect and hence it must have an efficient and intelligent cause. That efficient

and intelligent cause is God." Which means of knowledge is used in this argument as per classical
Indian School of Logic (Nyaya)?

1. Perception

2. Inference

3. Analogy

4. Verbal authority
Options :
93806615517. 1
93806615518. 2
93806615519. 3
93806615520. 4



Question Number : 30 Question Id : 9380663989 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

«fd% U gRUMY g 3R Ul 3UYDT Balldigd 3R difGd HRU GHI dIfgU| dg bhldiGdh
IR difgD RIS g~ 29 Yidd T Ui YR Th AR U (A1) & 3R IHE & [y
T4 DT U fhdT Siidl g2

1. Ucde

2. 3FHH
3. 3UHH

4. HIRGD I

Options :

93806615517. 1
93806615518. 2
93806615519. 3
93806615520. 4

Question Number : 31 Question Id : 9380663990 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In ., each communicating device is connected with every other device in the computer
network.

1. Star topology
2. Mesh topology
3. Bus topology
4. Ring topology

Options :

93806615521. 1
93806615522. 2
93806615523. 3
93806615524. 4



Question Number : 31 Question Id : 9380663990 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o Y1 UaH b didl Ydd UBIV h ek "cdd H Ydd 34 FUDHRUI Y F3
I gl
1. %R elgrdsi!
2. HY eglaiel

3§ cIgdroil
4. T1 <rarErsh

Options :

93806615521. 1
93806615522. 2
93806615523. 3
93806615524. 4

Question Number : 32 Question Id : 9380663991 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a web browser?

1. Opera
2. Safari
3. Firefox
4. Google
Options :
93806615525. 1
93806615526. 2
93806615527. 3
93806615528. 4

Question Number : 32 Question Id : 9380663991 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfRId H U S -1 99 3SR Tol o2

4. 70T

Options :

93806615525. 1
93806615526. 2
93806615527. 3
93806615528. 4



Question Number : 33 Question Id : 9380663992 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sequence of appropriate words A-D that correctly fills the blanks in the following
paragraph:

Radio Identification Systems use radio waves to read and capture information stored on a
tag, which can be read from several metres away. The is made up of a(n) to store
and process data, and a(n) to receive and transmit data.

A. tag

B. frequency

C. antenna

D. microchip

Choose the correct answer from the options given below:

Options :

93806615529. 1
93806615530. 2
93806615531. 3
93806615532. 4



Question Number : 33 Question Id : 9380663992 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A@gﬁﬂ?%ﬂ?éﬂ@%ﬁuﬁdw&ﬁmﬁqﬁﬁaﬁfﬁmmﬁﬁﬂﬁwﬁﬁﬂﬁ
Y H HRI 11 6

bl 71 & U Hd G131l Bl UeH 3R UItd & & feru fsal 3EefefhdaH

e 7 XS daq &1 ygi fhar SIdr g, fofg o Al RUUgI S adbdigl 98 sal
aﬁrﬂaﬁmﬁahwéwmaﬂﬁa?m_ﬁwéaﬂ?éaﬁwaﬂﬁﬁwﬁﬂaﬂﬁé?

fu  gegl

i feu T fadm el O 9 IEl SR IH:
1.B,D. A, C
2.C,A.D.B
3B A D C
4. A.C.,B.D
Options :

93806615529. 1
93806615530. 2
93806615531. 3
93806615532. 4

Question Number : 34 Question Id : 9380663993 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of following statements are correct?

A. Worm can be hardware and software.

B. Cookies are used to store browsing information.

C. Sandbox detection 1s malware identification method.
D. HTTP has better security than HTTPS.

E. Trojan is an antivirus.

Choose the correct answer from the options given below:

1. A, B and C Only
2. C and E Only
3.B and C Only
4. B and D Only
Options :
93806615533. 1
93806615534. 2
93806615535. 3
93806615536. 4



Question Number : 34 Question Id : 9380663993 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffiRad § U HIH-U &Y Ud g2

A. 90 EE AW 3R T dWR gl Gbhd g |

B. SIS SAHBR] T HSRU B & 61U pabls T Wl fbar Siidi g |
C. YT DI G&1, HITaaR Ugd &3 & U4d o

D. T & A 0 H ua & & Ol T U AR YRan g

E. TISH U USRI ¢ |

-4 feu e fas et 7 4 Ul SR I

. HAd A, B3R C

2. Had C 3ARE

3. hadB AR C

4. HAd B 3R D
Options :
93806615533. 1
93806615534. 2
93806615535. 3
93806615536. 4




Question Number : 35 Question Id : 9380663994 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Recognition System) {Application)

A.|MICR I. |Reading the car number plates
Capturing product information so that it

B.|OCR I1. |can be added to the customer's purchase
total

c lomr I Reading the numbers found on a bank
cheque

D | Barcode Reader v Reading mark.s written using pencil or
pen on a specially printed paper.

Choose the correct answer from the options given below:

1. A-1V, B-1, C-1II, D-II
2. A-II, B-1, C-IV, D-III
3. A-IIL, B-1IV, C-1, D-II
4. A-II1, B-1, C-IV, D-1II

Options :

93806615537. 1
93806615538. 2
93806615539. 3
93806615540. 4




Question Number : 35 Question Id : 9380663994 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

g1 %d;r-u
A.|TH 313 1 3R I [®RI B TR &iel & ygHl
UISde Gael Y-l ured -1 i 28
B.| 3l 3R IL. |UTgeh] & i Wlq fearet & =miAd b
ol b |
fplt db & 9 WR T3 ol areil
C.| 3 e 3 U et B ue
| ofE ar U &1 uanT o ARy S0 g
D. RIS A =i Hfed HHTS U ford 71U fagl &1 g
+id faU T f[adetl # § Ul IR &1 989+ Hifolg ;

1. A-IV, B-1, C-III, D-II
2. A-11, B-1, C-IV, D-III
3. A-IIL B-1IV, C-1, D-II
4. A-IL, B-1, C-IV, D-II

Options :

93806615537. 1

93806615538. 2

93806615539. 3

93806615540. 4




Question Number : 36 Question Id : 9380663995 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from initial to final, of blue baby disease, methemoglobinemia. in
human infants?

A. Conversion of nitrate 1ons to nitrite ions by microorganisms in human body
B. Oxidation of ions from Fe(II) to Fe(III) in hemoglobin by nitrite ions.

C. Consumption of nitrate polluted water

D. Forming of abnormal hemoglobin called methemoglobin

Choose the correct answer from the options given below:

,B,A, D
¥ AB
. D,
i,

PP 00
OOt

1
2
3.
4

t.UU:lU-T-'

: a

Options :

93806615541. 1
93806615542. 2
93806615543. 3
93806615544. 4

Question Number : 36 Question Id : 9380663995 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ATa el o o sl AT, BYArEIfS-Ea & URY 9 ddhR 3ifdH dd &1 gl hH 182

A. M9 YRR T & Siidl gRIAECC 399 Sl AEI3e -4 § Sl
B. AIZCI3¢ Y §RI SIARAITaT T Fe(1I) T Fe(I1D) T - DI JHTRIIHR0T
C. A13¢eugi¥id sid &l 3UgHI

D. HAAFcle AHd SR gaiiie ol fHafor

4 fau v fadedt @ ¥ gl S I

1.C,B.A,D

2.C,A B, D

3.A,D,B . C

4. A.C,B,.D
Options :

93806615541. 1
93806615542. 2
93806615543. 3
93806615544. 4



Question Number : 37 Question Id : 9380663996 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Electrostatic Precipitator is used in Thermal Power Plants to remove which of the following air
pollutants?

1. Polycycli Aromatic Hydrocarbons
2. Gaseous Pollutants

3. Fly ash

4. Volatile Organic Compounds

Options :

93806615545. 1
93806615546. 2
93806615547. 3
93806615548. 4

Question Number : 37 Question Id : 9380663996 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad ® U foy 9 Uy &I g & (61U a9 f9aga Sl #, fRR 98gd a8 &,
T fhar STl g |

1. gifcr g dell WIAR® gEgidhe-a
2. 1Y UgNd
3. Tellg U
4. IMYIRIE SIq gifild
Options :
93806615545. 1
93806615546. 2
93806615547. 3
93806615548. 4



Question Number : 38 Question Id : 9380663997 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
(Types of water pollutant) (Example)
A.|Disease Causing Agent I. |Fine particles of clay
B.| Oxygen Consuming Waste II. |Coliform Bacteria
C.|Plant Nutrient III. | Animals and Plants in aquatic habitat
D.| Suspended Solids IV. [Phosphorous

Choose the correct answer from the options given below:

1. A-II, B-III, C-I, D-IV
2. A1, B-IIT, C-IV, D-1
3. A-l, B-1I, C-III, D-1IV
4. A-1, B-1I, C-IV, D-III

Options :

93806615549. 1

93806615550. 2

93806615551. 3

93806615552. 4

Question Number : 38 Question Id : 9380663997 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

a1 a1
GEEFLERCIL) (SITEXT)
A.[JTTSS Hid (Teie) I |-t gl & uishd o
B. | 3fiqdTol SUHITHRT Uiy 11 |IfcThid SHar] (st
C.|Urey Uyiyd 111 | Sfeiid gafarg 3 i 3R giel
D. | Udifad ®U1 (G SS Hifers) IV. |G RBRY
fId feu ¢ fadedl & U Igl Sk &1 98 BT :

1. A-II, B-III, C-L, D-IV
2. A-I1, B-III, C-IV, D-I
3. A-1 B-II, C-II1, D-IV
4. A-1, B-II, C-IV, D-III

Options :

93806615549. 1

93806615550. 2

93806615551. 3

93806615552. 4



Question Number : 39 Question Id : 9380663998 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I
(Waste water treatment process)

LIST-II
(Explanation)

A.|Ozonation

Removal of excess ion and manganese

B.| Aeration II. |Removal of large solids
C.|Flocullation I1I. | Disinfection
.| Seresniiis v Very small particles are clustered

together

Choose the correct answer from the options given below:

1. A-IIT, B-1, C-IV, D-1I
2. A-II, B-1, C-1I, D-IV
3. A1, B-III, C-II, D-IV
4. A-1V, B-1I, C-1I1, D-1

Options :

93806615553. 1
93806615554. 2
93806615555. 3
93806615556. 4

Question Number : 39 Question Id : 9380663998 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 D1 e Hifoie:

(mm@ﬁnm (%?'\'SD
A.| ISTHI®RT 1. |l g HarS 3 ¥l @l geH
B.|drad 1L |§3 319 Bl geHl
C.|3vH 1L | faeh AU
AREAIEY] IV. [ ercfeicr oy Ul 1 U 1Y T[=d
I feu T fam el & 9 Gl 3R &I 99 Piforu ;

1. A-III, B-1, C-IV, D-II
2. A1, B-I, C-11I, D-IV
3. A-1, B-TII, C-II, D-TV
4. A-1IV, B-11, C-III, D-1

Options :

93806615553. 1

93806615554. 2

93806615555. 3

93806615556. 4




Question Number : 40 Question Id : 9380663999 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct increasing order of U-235 (fissile uranium) ratio in following?

A. Natural Uranium

B. Uranium Ore

C. Weapon grade uranium
D. Reactor grade uranium

Choose the correct answer from the options given below:

Options :

93806615557. 1
93806615558. 2
93806615559. 3
93806615560. 4

Question Number : 40 Question Id : 9380663999 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 1 G235 (fads-ia @fgw) siqurd &1 9l 949 od | g2
A. Ui fdd RiFaa

B. 3qeh
C. 4SS Wiy
D. Ruaex 93 gy
i feu g faabedl § T Ul SR 9
I.B.AC D
2.B,A.D,C
3D, CAB
4.D.C,B.A
Options :

93806615557. 1
93806615558. 2
93806615559. 3
93806615560. 4



Question Number : 41 Question Id : 9380664000 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are four guiding principles in the development of higher education in
India?

1. Access, Authority, Equity, Equality

2. Accountability, Based on freedom, Access, Free

3. Access, Equity, Accountability, Equality

4. Assessment, Equality, Affordability, Research Oriented

Options :

93806615561. 1
93806615562. 2
93806615563. 3
93806615564. 4

Question Number : 41 Question Id : 9380664000 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR H IdcR 1281 & [dH™ & 6l ®IF U IR Ariagie g g2

1. Ugd/ Gl WD R, 98dT (3fedl), GHH

2. SREIRd, WA, Yl 3R - Yedbdl W 31eid
3. YT, GHAT, SR, GHH]

4. 3o, YA, I, JMY-349

Options :

93806615561. 1
93806615562. 2
93806615563. 3
93806615564. 4

Question Number : 42 Question Id : 9380664001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The full form of AICTE is

1. Academic Institutions Council of Teacher Education
2. All India Council for Technical Education
3. All India Constitution for Teacher Education
4. All India Institute for Teacher Education
Options :
93806615565. 1
93806615566. 2
93806615567. 3
93806615568. 4



Question Number : 42 Question Id : 9380664001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U. 312, Il €. 2. (AICTE) &1 QU &4 1 g2

1. b SHd TR DS 3HIh SR Tbh R
2. 3 =41 HI3el BR THIbd T
3. 3Td] ST BT BR Sl USdhH

4. 3{Tcl 331 ST BR R T2

Options :

93806615565. 1
93806615566. 2
93806615567. 3
93806615568. 4

Question Number : 43 Question Id : 9380664002 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following components in the context of “Effective Learning Environment”.

A. Continuous Formative Assessment

B. Adequate Students Support

C. Appropriate Curriculum

D. Engaging Pedagogy

E. Providing suitable resources and infrastructure

Choose the correct answer from the options given below:

5P SO S

2B AC BE

3.C,D,A. B.E

4. A,B,C.D,E
Options :

93806615569. 1
93806615570. 2
93806615571. 3
93806615572. 4



Question Number : 43 Question Id : 9380664002 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"gUTAT ST AraraRul & GG # FYfciRad gedh! (A- E) & Ul HH H @ge

A. Tdd FETES 3dhad
B. B[ &l UgIw gHdq
C. JgfId ureaaai

D. Yeidrguf fRrefurRre

E. 3G Y14 3R YR-Yd Bl UG HAT
1< fau v fadedt @ € Tl ST I

E B A G
B.A C D,
C,D.A,
A B, C,
Options :

93806615569. 1
93806615570. 2
93806615571. 3

93806615572. 4

rollvs Mz W)

I Led D =

D
B,
D

¥

Question Number : 44 Question Id : 9380664003 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the Buddha Period, which educational centres were established along with monasteries?

A. Ballabhi

B. Baba Mastnath University
C. Nalanda

D. Vikramshila

E. Taxila

Choose the correct answer from the options given below:

1. B, C and E Only
2. A, B, Cand D Only
3.A,C,DandE Only
4. B, D and E Only
Options :
93806615573. 1
93806615574. 2
93806615575. 3
93806615576. 4



Question Number : 44 Question Id : 9380664003 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- DId H, Ha! b U1y, DI Y RUefl-dg w1iUd fdbu 1w &

A. deaiHl

B. 9191 TRa1Y fayfaeed
C. dld-al

D. famaAfren

E. d&fRrel

1< fau v fadedt @ € Tl ST I

|.Hdd B, C 3R E
2. HAd A, B, C 3IRD
3. Hdd A, C,D 3R E
4. $Had B, D3R E
Options :
93806615573. 1
93806615574. 2
93806615575.3
93806615576. 4

Question Number : 45 Question Id : 9380664004 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(Author) (Area)
A.|Sankara I. | Vedanta Sutras
B.|Ramanuja I1. | Algebra and Astronomy
C.| Vidyapati III. | Dialect of Behar
D.|Bhaskara IV. | Vedanta Sutras and the Bhagavatgita

Choose the correct answer from the options given below:

1. A-I. B-II, C-IIL, D-IV
2. A1V, B-1, C-III, D-II
3. A-IV, B-1IL. C-II, D-1
4. A-1, B-III, C-IV, D-1I

Options :

93806615577. 1

93806615578. 2

93806615579. 3

93806615580. 4



Question Number : 45 Question Id : 9380664004 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

ﬁ—uﬂ_l 1T
(GLCED) (ewa-g=
A [HDRI L |dal=- g4
B. [JH 11 |SfISHTIONT 3R iy
c.|faemafa 1L |fSIgR &l Sicil
D.|HRaR IV. | d&TT 9 3R WiTdg Hidl
i T Y fasedl § ¥ Ugl 3wk &l 984 Dol :

1. A-1, B-II, C-II1, D-IV
2. A-1V, B-1, C-I1I1, D-II
3. A-IV, B-II1, C-I1, D-1I
4. A-1. B-III. C-IV, D-1I
Options :
93806615577. 1
93806615578. 2
93806615579. 3
93806615580. 4
Sub-Section Number : 3
Sub-Section Id : 938066165
Question Shuffling Allowed : No



Question Id : 9380664005 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
is on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

Sub questions

Question Number : 46 Question Id : 9380664006 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

After going through the passage, it can be inferred that the capitalist system is

1. Ambitious

2. Biased

3. Humane

4. Realistic
Options :
93806615581. 1
93806615582. 2
93806615583. 3
93806615584. 4

Question Number : 47 Question Id : 9380664007 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The maximum control over the means of production is under

1. All the stake holders
2. Proletarial class
3. Owners of the system
4. Working class

Options :

93806615585. 1

93806615586. 2

93806615587. 3

93806615588. 4

Question Number : 48 Question Id : 9380664008 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

In a capitalist system,

1. the ends justify the means
2. the means justify the ends
3. the means leading to exploitation are strictly prohibited
4. the religion decides the issue related to the means
Options :
93806615589. 1
93806615590. 2
93806615591. 3
93806615592. 4

Question Number : 49 Question Id : 9380664009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Capitalism is detrimental to equality as it divides the society into the groups, namely,

1. Working and non-working
2. Buyers and Sellers
3. Exploiters and Exploited
4. Religious and Atheist
Options :
93806615593. 1
93806615594. 2
93806615595. 3
93806615596. 4

Question Number : 50 Question Id : 9380664010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The capitalist system focuses on

1. Maximum production
2. Unusual benefits
3. Investment on human resources
4. Reduction of expenditure
Options :
93806615597. 1
93806615598. 2
93806615599. 3
93806615600. 4



Question Id : 9380664005 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

fFrafafEd i o geyHEe ufer 9 39@ a1e 1 e uHl & 3R difve:

TSl &1 Yollare] el T8 & dld W He¢f 1 uiyor 981 Sl g1 9gd 4TS arl

I & Ui el & W gid § 3R 30 I 91 0 & ol o3 i W6d WR Il 1
Trdl & 37efiH 3G 41 Afdd i ST USdl g1 djdb uitare o1 SR Hifdd Huel & di=
HewW R Tidl ¢ SUfaU 3uat 3fict i digaT Ssi-eied diad &1 2R gict 81 78 2
fdd $1 SURHT I @161 &l § 3R 3UD 36l b [y FAISIg WreEl R dls &H ol odl o
3R I8 & gfd Bl 9¢1d1 &l 8 | AHar UgH-Riieldl B avd HiF1 ddb J%1 & 39 Nl
Y, 2T Y50l 3HTH JdIG W A glb Ydiitih GATth TR gIdl g

3{d: A9 URGR &1 fquTei 3ifde RRyfd & YR W fhdl Srd1 81 U8 9d AFd TR 6
U & fOIU BTN RS g1 3R S/ Idiiad M- Tgradl & 61U 4H & TRIUH] DI 3R
gadl g, di d I a1 &I dTelldbl Yddb &dld dd g1 d 34db dadH gl & ferg Urdt
Ydl &1 a9 Gd g SR G T & §:@ d [dglg IR gegH a7 $HR Yo &Y 3@ 8
a7 &1 HRATSITe §d g | SHd¥dT 301 YUl g 3R & 34 3Id sgidi gl

Sub questions

Question Number : 46 Question Id : 9380664006 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T2 Bl Ug o U4Id Ug by Adbiell & Udbdl ¢ fob Yollard] saqey

1. Hgardhiel g
2. UUTayUl §
3. HHFdIO g

4. 9YIIRE g

Options :

93806615581. 1
93806615582. 2
93806615583. 3
93806615584. 4

Question Number : 47 Question Id : 9380664007 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JdTeA & 18 IR HHaH [0 99 1 9 fdhads 31l gidr g2

1. g fgduR®

2. GdgRI &

3. T o WHl

4. YD af
Options :
93806615585. 1
93806615586. 2
93806615587. 3



93806615588. 4

Question Number : 48 Question Id : 9380664008 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Goilarel oaqeur §
1. T FIEH D S ST 5
2. Te 1ed 1 3 ad )

3. QY B 3R o Sl alcd T8 dals & 91y Hitg g
4. TIEET Y Weifed fawyl &1 (v 4 vdl g

Options :

93806615589. 1
93806615590. 2
93806615591. 3
93806615592. 4

Question Number : 49 Question Id : 9380664009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Usilare SHHdT & Uid giHeR® ¢ difd 98 YA & FY &l 9ggi d fauSa s carg

1. B & alcl d HI A B dldd
2. ol d fadbal

3. QM9 g 2Nd

4. U@ 9 A1Rd®

Options :

93806615593. 1
93806615594. 2
93806615595. 3
93806615596. 4

Question Number : 50 Question Id : 9380664010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Uuitard] saaqwyr (9§ ¥ ¥ IR di<d Hdl 82

1. HfhaH IdIGH
2. UTH <Y
3. A9 Ig1eE! o [Haer
4. g H HHI
Options :
93806615597. 1
93806615598. 2
93806615599. 3
93806615600. 4



Education

Section Id : 93806656
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 938066166
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9380664011 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following theoretical perspective mainly emphasizes on hidden curriculum and

credentialism?

1. Functionalist
2. Interactionist
3. Conflict

4, Feminist

Options :

93806615601. 1
93806615602. 2
93806615603. 3
93806615604. 4

Question Number : 51 Question Id : 9380664011 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafeiiegd o 4 $H 91 <ifds ePHIv g8l Tsd Uiedddl 3R YR441g U §d odl g2

L. Upard]
2. idfdarardt
3. 9y

4. ARIETE!

Options :

93806615601. 1
93806615602. 2
93806615603. 3
93806615604. 4



Question Number : 52 Question Id : 9380664012 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following education thinker emphasized on ‘Care Ethics’?

1. Paulo Freire

2. J. Krishnamurthy

3. Wollstonecraft

4. Nel Noddings
Options :
93806615605. 1
93806615606. 2
93806615607. 3
93806615608. 4

Question Number : 52 Question Id : 9380664012 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FaferRad & O fhg fRien fide 1 «<gravre Afdear R 9d fGar yr

1. UT3al The
2. o PUMfd

3. qIee U
4. A AIRE™
Options :
93806615605. 1
93806615606. 2
93806615607. 3
93806615608. 4

Question Number : 53 Question Id : 9380664013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is NOT true about Idealism?

1. In scheme of curriculum, idealism is not prepared to give any particular preference to any
subject.
2. Idealism has talked more of objectives and aims of education and less of devices, methods
and organisations.
. Subjects which have a flavour of personal greatness are greatly emphasized by Idealism.
4. Idealism pay much attention to the present experience of the child in its approach to the
problem of curriculum.

%]

Options :

93806615609. 1
93806615610. 2
93806615611. 3
93806615612. 4



Question Number : 53 Question Id : 9380664013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfaRad § U &H W $YH 316G & dR H A Tl g2

1.%W§mm§mﬁ,mmmﬁwﬁaﬁémmmwmwasm
gl 1
2. 3TeRIarG &l & dedl 3R Il & IR H 3{fedh [9uef a1 g au1 gidadl, faftr sk
i1l & aR § o fquef drar gl
3. AR HEF & Ye dlal [l | H1eRidrg gRI 31¥E 9d faar Sl g
4.%@?3%?@@137% 3O el | 3H1eRidIe 9Teid & IdqM 3fHd TR 3{fed &
|
Options :
93806615609. 1
93806615610. 2

93806615611. 3
93806615612. 4

Question Number : 54 Question Id : 9380664014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about Sankhya Philosophy?

1. “Gya’ is matter or Prakriti.
2. Vyakta is consequence of the Karya-karana.
3. Avyakta is Purush.
4. Sankhya asserts that existence of God can be proved.
Options :
93806615613. 1
93806615614. 2
93806615615. 3
93806615616. 4

Question Number : 54 Question Id : 9380664014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ey &2 & §R | FEfaRad 7 U &H 91 $U9 9d &:

1. T uerd AT Ui gl
2. ad, HII-HRUI BT UROMH g

3. 3Hdd, T o
4. R THgdl § T SR &1 3R Fifed a1 S 9hdi g

Options :

93806615613. 1
93806615614. 2
93806615615. 3
93806615616. 4



Question Number : 55 Question Id : 9380664015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a recommendation of National Knowledge Commission (2007)
with respect to School Education?

1. Central Legislation for the right to education.
2. More rigidity in disbursal of funds.

3. Decentralization and greater local autonomy.
4. Expansion of functional literacy:.

Options :

93806615617. 1
93806615618. 2
93806615619. 3
93806615620. 4

Question Number : 55 Question Id : 9380664015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faermera fRrem & deiy | fgfafad | 9 19 Al wdia I 3l (2007) i 3= 61 ¢

1. R1eM1 & SHUBR gd d-a1d fauH
2. el & faaRur § 3ff¥d HaRdr
3. f[ah =i 3R 24f¥d QI Wl

4. HATHD TIeRdl & f[adR
Options :
93806615617. 1
93806615618. 2
93806615619. 3
93806615620. 4

Question Number : 56 Question Id : 9380664016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For the implementation of Programme of Action (PoA, 1992), how many task forces were
constituted on different subjects?

1.20
2,21
3.22
4.24

Options :

93806615621. 1
93806615622. 2
93806615623. 3
93806615624. 4



Question Number : 56 Question Id : 9380664016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hrf-au4 driDhd (WaY, 1992) & fbarad- gq Al faval Yeel fha- & 9a 1fdd fbu
Mo Adr

1. 20

2.21

3.22

4. 24
Options :
93806615621. 1
93806615622. 2
93806615623. 3
93806615624. 4

Question Number : 57 Question Id : 9380664017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Commission observed that “one of the most useful methods of enriching rural life is to
locate educational institutions in rural areas™?

1. Secondary Education Commission, 1952-53
2. Kothari Commission, 1964-66

3. National Commission on Teachers, 1999

4. University Education Commission, 1948

Options :

93806615625. 1
93806615626. 2
93806615627. 3
93806615628. 4

Question Number : 57 Question Id : 9380664017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fbg AT = fewoft &1 2t fob <areior Sfidd &1 99 &= o a8 Iugri fafeai 0 9 v a8
b greitor &t o QeifOrd GRIHI &l RITUAT Bl S|

1. HTee TRI&T ST, 1952-53
2. BIBRI TN, 1964-66
3. M7 e 2T, 1999
4. Ta%yf3=ITerg 218 3T, 1948
Options :
93806615625. 1
93806615626. 2
93806615627. 3
93806615628. 4



Question Number : 58 Question Id : 9380664018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which does NOT come under demand factors for finance in education:

1. Demographic factors
2. Economic factors
3. Religious factors
4. Political factors
Options :
93806615629. 1
93806615630. 2
93806615631. 3
93806615632. 4

Question Number : 58 Question Id : 9380664018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2181 & fa<1 & oI AT HRSBI & 3 id S I ! 3Tl 82

1. SR DR
2. AT BREH

3. YTHEH PRSP

4. YSHITdD BRE

Options :

93806615629. 1
93806615630. 2
93806615631. 3
93806615632. 4

Question Number : 59 Question Id : 9380664019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

One teacher manages most of the class while other teacher works with small group inside or
outside of the classroom. This is an example of which co-teaching method.

1. Alternative teaching
2. Parallel teaching
3. Station teaching
4. One teach one assist

Options :

93806615633. 1
93806615634. 2
93806615635. 3
93806615636. 4



Question Number : 59 Question Id : 9380664019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U & MBI Hefl bl U SRl g Sl 3 R1ed Hefl-dhe & HIar iR 91gr a9
HHE & 1Y DA Sl § | I8 [ Ug-3eh1u- fafY BT 3180 g2

|. I U U
2. JHMEIAR AT
3. WY (U

4. U gRT A, UPh gRT el
Options :
93806615633. 1
93806615634. 2
93806615635. 3
93806615636. 4

Question Number : 60 Question Id : 9380664020 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘In order to achieve mastery of a problem, we must receive feedback as to how we are doing™.
This statement is related to which principle of Bruner.

1. First Principle

2. Second Principle
3. Third Principle
4. Fourth Principle

Options :

93806615637. 1
93806615638. 2
93806615639. 3
93806615640. 4

Question Number : 60 Question Id : 9380664020 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“fepdl GO UR Gfdl/Aygurdr Ui d & e, gd ufayfy era=y urdd &=l d1igu fb gu
S UG BTG § 17 U8 HYH TR & (b [Gid 4 deidid g2

1. JuH fagid
. fedia fgid
3. g Rsid
4. 9gd ¥sid
Options :
93806615637. 1
93806615638 2
93806615639. 3
93806615640. 4



Question Number : 61 Question Id : 9380664021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which stage children are dreamers, with magical thoughts and fantasies in abundance?

1. Formal operational stage
2. Pre-operational stage
3. Concrete operational stage
4. Sensorimotor stage

Options :

93806615641. 1

93806615642. 2

93806615643. 3

93806615644. 4

Question Number : 61 Question Id : 9380664021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o oRUT H 9Tdd WUEPT Bid 8, aUT 1Gs [adR] SR Gdld] ®f UdRdl ¥ d6 gid 67

1. 3RS UTaTdHS TR
2. Jd-UdIeHTHD WR
3. 31 UEIAHIHD TR
4. Sfggmfdal TR
Options :
93806615641. 1
93806615642. 2
93806615643. 3
93806615644. 4

Question Number : 62 Question Id : 9380664022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“An individual is intelligent in proportion as he is able to carry on abstract thinking.” This
definition of intelligence is given by:

1. Stern

2. Wagnon

3. Terman

4. David Wechsler

Options :

93806615645. 1
93806615646. 2
93806615647. 3
93806615648. 4



Question Number : 62 Question Id : 9380664022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“thlg Afdd 39 3uld ¥ gfer gidl g, a1 a8 i fid= &3 o Gew gidr g 1" Jfar
&1 gg IR fhgd gRI &1 718 82

1. %A

2. A

3. A

4. SIS A%
Options :
93806615645. 1
93806615646. 2
93806615647. 3
93806615648. 4

Question Number : 63 Question Id : 9380664023 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

National Curriculum Framework for Integrated Teacher Education Programme in India (2023)
was developed by :

1. NCERT
2. NCTE
3. UGC

4. AICTE

Options :

93806615649. 1
93806615650. 2
93806615651. 3
93806615652. 4

Question Number : 63 Question Id : 9380664023 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR H Udldpd Ried e srichd & forg sy ursu<al wuan (2023)  gRifdbRid
GCARIERIT

LTS IR
2. TS
3.g o

4. TR YIAS

Options :

93806615649. 1
93806615650. 2
93806615651. 3
93806615652. 4




Question Number : 64 Question Id : 9380664024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who described the theory of Communicable Action?

1. Zongyi Deng

2. Allan Luke

3. Jurgen Herbermas

4. Lee Shulman
Options :
93806615653. 1
93806615654. 2
93806615655. 3
93806615656. 4

Question Number : 64 Question Id : 9380664024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HUNUHIG HRdls SI [¥Gid fdhdd gR1aftid faar man y4n

1. SIRAT 391

3. vllld gdH[H

4. Sl YA

Options :

93806615653. 1
93806615654. 2
93806615655. 3
93806615656. 4

Question Number : 65 Question Id : 9380664025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

PCK framework was given by

1. Lee Shulman

2. Zongyi Deng

3. Allan Luke

4. Jurgen Habermas
Options :
93806615657. 1
93806615658. 2
93806615659. 3
93806615660. 4



Question Number : 65 Question Id : 9380664025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fidfidwegeEa grIdR 4

1. Sl R
2. SR 37

3. UM P
4. 5T gAY

Options :

93806615657. 1
93806615658. 2
93806615659. 3
93806615660. 4

Question Number : 66 Question Id : 9380664026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

First chairperson of National Council for Teacher Education (NCTE) was

1. Pankaj Arora
2. Santosh Panda
3. J. S. Rajput
4. M. A. Siddiqui
Options :
93806615661. 1
93806615662. 2
93806615663. 3
93806615664. 4

Question Number : 66 Question Id : 9380664026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

XTI feATIeh fRiem uRwg (T U ) & vuH sreme 0f

1. ool 3RIST
2. TdIy UigT

3. 9l T ISqd
4.TH. T e

Options :

93806615661. 1
93806615662. 2
93806615663. 3
93806615664. 4



Question Number : 67 Question Id : 9380664027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who stated *“Curriculum is a plan or programme for all experiences which the learner encounters
under the direction of the school.”

1. Oliva

2. Carter V. Good

3. Tyler and Hild Taba
4. Galen Saylor

Options :

93806615665. 1
93806615666. 2
93806615667. 3
93806615668. 4

Question Number : 67 Question Id : 9380664027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fbae gl Ut “ureradl 3 9l 3yal & o Us gisHr a1 s © S gt faarea &
EREEPISERGIR

1. 3fiferar
2. DIl TS

3. R US fgeg drEl
4. T e

Options :

93806615665. 1
93806615666. 2
93806615667. 3
93806615668. 4

Question Number : 68 Question Id : 9380664028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jerome Bruner's method of concept attainment has been shaped into a model of teaching by:

1. David P. Ausubel
2. Robert Glaser
3. Bruce Joyce and Marsha Weil
4. Saylor and Alexander
Options :
93806615669. 1
93806615670. 2
93806615671. 3
93806615672. 4



Question Number : 68 Question Id : 9380664028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR A Bl 3RO UITGT b1 faf¥y o) fRifur & Ueb Hisd & U H bR fear 11 g:

1. Sfds Ul 3rgdd
RRIC GRI R

3. 59 SIUY U8 graii dd
4. Yo} US UddolaR

Options :

93806615669. 1
93806615670. 2
93806615671. 3
93806615672. 4

Question Number : 69 Question Id : 9380664029 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tyler’s model of curriculum evaluation obtains the curriculum objectives from following three
sources:

1. The student, the society, the subject matter

2. Curriculum, syllabus, course book

3. The teacher, the institute, the Government

4. Course content, teaching method, evaluation strategy

Options :

93806615673. 1
93806615674. 2
93806615675. 3
93806615676. 4

Question Number : 69 Question Id : 9380664029 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ISR &1 UIsa<dl gelic Hisd FgfeRad T Fidi U ureuaat 3= Uitd &dl 8

1. faamedf, gmre, fovg.a%g

2. UTEU=i, UTaAshH, UTé.J&id

3. e, IR, WHR

4. UTGUshH Sfddd, fRraror fafy, gedie-1 orFifa

Options :

93806615673. 1
93806615674. 2
93806615675. 3
93806615676. 4



Question Number : 70 Question Id : 9380664030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The central insight in phenomenological analysis is the

1. Theory of intentionality
2. Theory of knowledge
3. Theory of power
4. Theory of unconsciousness
Options :
93806615677. 1
93806615678. 2
93806615679. 3
93806615680. 4

Question Number : 70 Question Id : 9380664030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

geA1-forar-fagr faeyor & By iaed gl

L. IIfHYrad ol Rigid
2. M B fgid

3. Qlfad ol [rgid

4. 3 BT Rigid

Options :

93806615677. 1
93806615678. 2
93806615679. 3
93806615680. 4

Question Number : 71 Question Id : 9380664031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which is NOT a characteristic of qualitative research?

1. Exploring, developing, understanding a central phenomenon
2. Collecting data based on words
3. Analyzing the data with statistics
4. Writing the report using researcher’s subjective reflexivity
Options :
93806615681. 1
93806615682. 2
93806615683. 3
93806615684. 4



Question Number : 71 Question Id : 9380664031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I I qUTdD Y Dl faAsdr gl g2

1. T ST ulee1 &1 =99, [AHRT 3R IH
2. I[ecl & YR WR b gl Bl e
3. gikegs1 & 91y 3! Bl [a=eyu
4. RNYEHl B [AGHE WRITAdl & IULRT Hch RUIE [erRa= T
Options :
93806615681. 1
93806615682. 2
93806615683. 3
93806615684. 4

Question Number : 72 Question Id : 9380664032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which designs are systematic, qualitative procedures that researchers use to generate a general
explanation and it leads to process, action or interaction among people?

1. Ethnographic designs

2. Grounded theory designs
3. Narrative research designs
4. Correlational designs

Options :

93806615685. 1
93806615686. 2
93806615687. 3
93806615688. 4

Question Number : 72 Question Id : 9380664032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DI Y FES2H HafRyd, omdd Uihdrd g fSHe! e dl I WPia Fid & o
Tgdd DRd § adl Sl dr § Uiehdl, Rl Syl 3idfchdl &1 3R o SIdl g2

1. Jolifd-quiq f&sg=
2. YiTST (I3 S 3) fagid feurmeg
3. 3R Y FSolg
4. Ug HdUTHD fSolrgA
Options :
93806615685. 1
93806615686. 2
93806615687. 3
93806615688. 4



Question Number : 73 Question Id : 9380664033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which research is a portrayal and explanation of social groups and situations in their real life
contexts?

1. Phenomenology research
2. Ethnography research

3. Grounded theory

4. Case study

Options :

93806615689. 1
93806615690. 2
93806615691. 3
93806615692. 4

Question Number : 73 Question Id : 9380664033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W%@HWWWWWWWWWWW%ﬁﬁ
D1 g2

1. g1 fehar fag = 2y
2. Felifaqui4 My
3. 4T (A8 S 9) Rigia
4. Hg T3l

Options :

93806615689. 1

93806615690. 2

93806615691. 3

93806615692. 4

Question Number : 74 Question Id : 9380664034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which is NOT a characteristic of narrative research design?

1. Individual experiences
2. Collecting data through rating scale
3. Coding and decoding for themes
4. Collaborating with participants
Options :
93806615693. 1
93806615694. 2
93806615695. 3
93806615696. 4



Question Number : 74 Question Id : 9380664034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DI Ul R MY (S &f [dRdT gl 52

1. AT 3FHd
2. T UM gRT b1 b

3. [avgl 3 deeiad 3R fapecad
4. Uiyl & Ty ggai

Options :

93806615693. 1
93806615694. 2
93806615695. 3
93806615696. 4

Question Number : 75 Question Id : 9380664035 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Halo Effect is very common constant error committed by raters/teachers in assessment of
students through rating scale. This error was first mentioned by Wells in 1907 and was named so

by

1. Anastasi (1968)
2. Symonds (1925)
3. Murray (1938)
4. Thorndike (1920)
Options :
93806615697. 1
93806615698. 2
93806615699. 3
93806615700. 4



Question Number : 75 Question Id : 9380664035 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T UM g faenffal & geaid 8 Aeddisil/ Ried! gR1 &1 |H aTdl dgd HR Ry
fad Ffe greil Uud 1 98 ¢ 94 Ugd I gRT 1907 A Sfcaifad Sl I fiayr . gl
24U g A9 fean A

1. Q:”Q%H (1968)

2. YIgHIH (1925)
3. 1Y (1938)

4.Y '_‘iglﬁa (1920)

Options :

93806615697. 1
93806615698. 2
93806615699. 3
93806615700. 4

Question Number : 76 Question Id : 9380664036 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a part of formal step of “Syntax™ of Herbertian Approach?

1. Presentation

2. Comparison and Abstraction
3. Preparation

4. Focus

Options :

93806615701. 1
93806615702. 2
93806615703. 3
93806615704. 4

Question Number : 76 Question Id : 9380664036 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfcIRad § U &I U1 gdd & el b “aTd (IR & NUYFIRS GR01 BT HIET gl g2

1. TR

2. 4T 3R 9R-Y&Y
3. daRl

4. 9 g Ul (Bl Y)

Options :

93806615701. 1
93806615702. 2
93806615703. 3
93806615704. 4



Question Number : 77 Question Id : 9380664037 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following model of interaction analysis assumes that non-verbal communication
can be more effective during interaction in classroom?

1. Flanders' Interaction Analysis
2. R. H. Dave

3. Charles Galloway

4. Malcolm Knowles

Options :

93806615705. 1
93806615706. 2
93806615707. 3
93806615708. 4

Question Number : 77 Question Id : 9380664037 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3idfchar f[azeiyu] &l FfaRad J W $F U1 Hisd AHd § b TR-fsad TdR Sefl-dhe J
i & TR AP UHIG! g1 bl 2

1. Teiey 3idfchar faeyo
2. 3R.Td. gd
3. 1 Teld

-

4. HaDIH dlde™
Options :
93806615705. 1
93806615706. 2
93806615707. 3
93806615708. 4

Question Number : 78 Question Id : 9380664038 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Malcolm Knowles elaborated the term Andragogy in his famous work

1. Adult Education: Concept, Theory and Practice
2. The Modern Practice of Adult Education: Andragogy vs Pedagogy
3. Theory and Practice of Andragogy
4. Andragogy Education: Concept, Theory and Practice
Options :
93806615709. 1
93806615710. 2
93806615711. 3
93806615712. 4



Question Number : 78 Question Id : 9380664038 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Nddd Hidd (U uf¥ig $fd H quEd AR (CSFT) Lsg Dl RSN DHid ¢ |

1. USed U RH: Sy, fI3ii U8 Ufdey

2. f& Tt Uided 3% Usee U eH: TSFIT diey disr
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4. UgTI UbRH: by, (43 Us Ufdey

Options :

93806615709. 1
93806615710. 2
93806615711. 3
93806615712. 4

Question Number : 79 Question Id : 9380664039 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has given Fourth Generation Instructional System Development Model (ISD) to represent
complexity of educational technology?

1. Robert Tennyson (1995)

2. Spector (2005)

3. Hartley and Colleagues (2010)
4, David Merrill (2007)

Options :

93806615713. 1
93806615714. 2
93806615715. 3
93806615716. 4

Question Number : 79 Question Id : 9380664039 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&b Uil B1 Sieddl bl FREUd & & o1t fg aged Uit sieIdd Yorel
faeTg Al (MSuge fear g

1. 0 G (1995)
2. Wded (2005)
3. g IR I (2010)
4. gfds AR (2007)
Options :
93806615713. 1
93806615714. 2
93806615715.3
93806615716. 4



Question Number : 80 Question Id : 9380664040 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT related to basic six components of ASSURE model:

1. Require learner participation
2. Analyze teacher
3. Evaluate and revise
4. Utilize technology, media and material
Options :
93806615717. 1
93806615718. 2
93806615719. 3
93806615720. 4

Question Number : 80 Question Id : 9380664040 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HfRaT # 9 9 91 TR (ASSURE) AISd & HYRYJ B 3Hagd| § Yafed 81 g2

1. TRreumif GgHIRTdr @1 Sa=gddi gidl o
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Options :

93806615717. 1
93806615718. 2
93806615719. 3
93806615720. 4

Question Number : 81 Question Id : 9380664041 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT true about constructivism theory of instructional design?

l. Learning is more a matter of going from the inside out

2. Learner actively imposes organization and meaning on the surrounding environment and
constructs knowledge in this process.

3. Learner receives information from environment, transforms it in many ways and acquires
knowledge that is subsequently stored in memory.

4. Constructivism has been felt keenly in the world, partly because it seems to contrast with
other foundations such as information processing and Gagne’s theories.

Options :

93806615721. 1
93806615722. 2
93806615723. 3
93806615724. 4



Question Number : 81 Question Id : 9380664041 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806615721. 1
93806615722. 2
93806615723. 3
93806615724. 4

Question Number : 82 Question Id : 9380664042 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has coined the term *x-MQOOC’ in 20127

1. William and Flora
2. Stephen Downes
3. Lane
4. Sebastian Thurn
Options :
93806615725. 1
93806615726. 2
93806615727. 3
93806615728. 4

Question Number : 82 Question Id : 9380664042 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 2012 H ‘x-MOOC* 205G TTg1 UT?

1. faferaw U8 ualiRl
2. WIhd 8134
3.0

4. OaiRegT U+

Options :

93806615725. 1
93806615726. 2
93806615727. 3
93806615728. 4



Question Number : 83 Question Id : 9380664043 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a part of internal compliance monitoring?

1. Maintenance of a process for reporting exceptions.
2. Constant reviewing of the policies and procedures in the organization.
3. Periodically assessing and reassessing the risk of criminal conduct.
4. Implementation of the different standards as well as procedures.
Options :
93806615729. 1
93806615730. 2
93806615731. 3
93806615732. 4

Question Number : 83 Question Id : 9380664043 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afeRaa & 9 S 91 3fidie e TR &1 4T g2
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Options :

93806615729. 1
93806615730. 2
93806615731. 3
93806615732. 4

Question Number : 84 Question Id : 9380664044 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ‘Unfreeze-Change-Refreeze’ model of organisational development was given by:

1. Blake, Mouton & Bidwell
2. Cummings and Worley
3. Kurt Lewin
4. Michael J. Boyle
Options :
93806615733. 1
93806615734. 2
93806615735.3
93806615736. 4



Question Number : 84 Question Id : 9380664044 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YIS [db ™ ol <3 fguifdd-uRad-q:figu=ifad aisd fbad gri faar mar yp
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Options :

93806615733. 1
93806615734. 2
93806615735. 3
93806615736. 4

Question Number : 85 Question Id : 9380664045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT true about the ‘Programme Evaluation and Review Technique
(PERT)’:

1. It is a network model.

2. It is a project management tool.
3. It is a statistical tool.

4. It 1s a process-oriented technique.

Options :

93806615737. 1
93806615738. 2
93806615739. 3
93806615740. 4

Question Number : 85 Question Id : 9380664045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafafad o 9 oI 91 “d bt Yedih 3R Y& ddh-idh (PERT)” & aR T YA g1 g7

1. U8 Udh -cdd Hisd ol

2. Ug Udh URAISHI by 3UFHU g |
3. Ug Udh GiRAdH g SUGHRUI ¢ |

4. 98 U Uicha1- 3! db-ild g

Options :

93806615737. 1
93806615738. 2
93806615739. 3
93806615740. 4




Question Number : 86 Question Id : 9380664046 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a stage of follower readiness according to the situational
leadership model given by Hersey and Blanchard (1999):

1. People who are both unable and either unwilling or too insecure to take responsibility to do
something
2. People who are able but unwilling or too apprehensive to do what the leader wants.
3. People who are motivated and have appropriate required skills.
4. People who are both willing and able to take responsibility and do what is asked of them.
Options :
93806615741. 1
93806615742. 2
93806615743. 3
93806615744. 4

Question Number : 86 Question Id : 9380664046 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafciad O 9 &l 91 g8 3R b1 (1999) gRT Ued URFRITS Add ATsd & 3 dR
SR AR/ R BT wRUT g 52

1.6ﬁﬂﬂ“{;&$§ﬁm@aﬂﬁ%mﬁwﬁaaﬁ$mm@$% 3{ydr 3Rf&d

Heqd 4

z.sﬁﬂeﬁgﬁm%ﬁﬁﬁmﬁm%? TUR D1 B & iU i Tgdh 3yar srafesd
oIl g

3. AT Sl URd § U1 GYfad HIRIe YR 6Rd |

4. <17 ST 3= 1 € U1 SaIRicd o @l dUR g 3R Sfl gl S, dg H- &l daR g

Options :

93806615741. 1
93806615742. 2
93806615743. 3
93806615744. 4




Question Number : 87 Question Id : 9380664047 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following disability is caused by Fragile ‘X’ syndrome?

1. Learning disability
2. Intellectual disability
3. Visual impairment
4. Locomotor disability
Options :
93806615745. 1
93806615746. 2
93806615747. 3
93806615748. 4

Question Number : 87 Question Id : 9380664047 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRgd o 9 i i feind 4R (huzq) <x° s & SR 3ad gidl g2

1. 3Ty feoTivrdr
2. difgd T
3. efy/exg qifear
4. 9o feaiTar

Options :

93806615745. 1
93806615746. 2
93806615747. 3
93806615748. 4

Question Number : 88 Question Id : 9380664048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following document does not advocate for inclusive education?

1. National Policy on Disability, 2006
2. Right to Education Act, 2009
3. Rights of Person with Disabilities Act, 2016
4. National Education Policy, 2020
Options :
93806615749. 1
93806615750. 2
93806615751. 3
93806615752. 4



Question Number : 88 Question Id : 9380664048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFafeRad § O 19 1 3ificig Tardl f21en &1 abiad ) ddl o2

1. 1817 feafrar Hifd, 2006

2. fRien &1 eif¥ieR sifefam, 2000
3. faaAiToH SMfUHR S1fafgH, 2016
4. TP fRefm ifa, 2020

Options :

93806615749. 1
93806615750. 2
93806615751. 3
93806615752. 4

Question Number : 89 Question Id : 9380664049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one does NOT belong to inclusive approach?

1. Flexible

2. Diagnostic

3. Individualistic

4. Holistic
Options :
93806615753. 1
93806615754. 2
93806615755.3
93806615756. 4

Question Number : 89 Question Id : 9380664049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DI 1 GHGRl UM 9 He&HiYd gt g2

1. G
PREHIEE
3. gDl
4. gaffior

Options :

93806615753. 1
93806615754. 2
93806615755. 3
93806615756. 4



Question Number : 90 Question Id : 9380664050 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which article of UNCRPD stresses the awareness raising to foster respect for the rights and
dignity against discrimination:

1. Article 7
2. Article 8
3. Article 13
4, Article 14

Options :

93806615757. 1
93806615758. 2
93806615759. 3
93806615760. 4

Question Number : 90 Question Id : 9380664050 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g U Ul SR Ul St &1 DI 1 3wd6 HaHd & fdee SUBR SR TR & fou 9wH 3t
YT &1 9fS 8d S ddl 96 M TR 9 adl 62

Options :

93806615757. 1
93806615758. 2
93806615759. 3
93806615760. 4



Question Number : 91 Question Id : 9380664051 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the follwoing four positions of soul from first to fourth.

A. Jagrat
B. Turiya
C. Swapna
D. Pragya

Choose the correct answer from the options given below:

Options :

93806615761. 1
93806615762. 2
93806615763. 3
93806615764. 4

Question Number : 91 Question Id : 9380664051 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3{TeT i FEfefad IR fyfaal & gym ¥ agd a6 aieyd 1

A. SITd
B. X
C. dy
D. Ul

AId feu Y fddhed! | wgl 3R -

AN
ronw

napg @
owpoo

el ve ]

Options :

93806615761. 1
93806615762. 2
93806615763. 3
93806615764. 4



Question Number : 92 Question Id : 9380664052 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of budget formulation and its role in the implementation of
edcuational progmmes in correct sequence.

A. Finance

department issues guidelines for budget preparation.

B. Heads of departments instruct subordinate offices and units to prepare budgets.
C. Budget serves as an interim instrument for implementing educational policies.
D. Legislative appraises the performance of departments before voting on expenditure.

Choose the correct answer from the options given below:

-

Options :

93806615765.
93806615766.
93806615767.
93806615768.

AW N =

AW on

-

oc»nU

Question Number : 92 Question Id : 9380664052 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gole (i & fFafarad <Ru ayT Qefrs erdaal & fharagy ¥ gaa! YiidT o gl
3{h Y H HdRYd DY

A. S99 dOR] & Tt fa< faumT gRT ArGRISE SR {6 S
B. faUTee GRT S SRl 3R 3Dl Bl Soic JUR B B 3= 1691 STH]
C. Q& Hifaal & fharau- g 3idka IuHv & &Y § dolc DI YHDT

D. o IR e U 4d [yl & Ye=i- & R H il gR1 Gedidd &3]
4 feu T fasb edl ¥ w5l S -

1.B. A, C,
2.A,.B.D,
3.C.D. B
4, A, B, C,
Options :

93806615765. 1
93806615766. 2
93806615767. 3
93806615768. 4



Question Number : 93 Question Id : 9380664053 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following keypoints of Bandura’s theory in chronological order:

A. Bandura and Walter introduced the concept of modelling behaviour through observation.

B. Bandura proposed the social learning theory, emphasizing observational learning.

C. The concept of reciprocal determinism, where personal environmental, and behaviour
factors interact.

D. The example of aggressive children demonstrating how behavioural environment influence
each other was used to explain reciprocal determinism.

Choose the correct answer from the options given below:

1.LA.D,C.B

2.D,C,B, A

3.3A,B,D.C

4.A,B,C,D
Options :

93806615769. 1
93806615770. 2
93806615771. 3
93806615772. 4

Question Number : 93 Question Id : 9380664053 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
qig gid & Fafdalad v feg el & bR Haiyd &1

A. ST 3R dleeR Y&/ §RT A1SelT IdgR &1 Heh o1 U Bl |
B. 9ige1 A UHIS® T Rigid Ukdifad foar, Ueonald SR W dd od gu|
c.;ﬁg@”ﬂ;ﬁqﬁﬂhﬂmﬁﬁw,aﬁmmaﬁtmwm
|
D. TdeRIA® YR b UHR TRER THIAd Bdl o, 34 [HEUd $3 dled 349 d1dD] &
JGTERYT DI SUANT Hah i1y FURvETE b SAReAT B3 1 fdhdm 7|

I-A D E. R

2.D,C,B, A

3.)A,B,D.C

4. A,B,C,D
Options :

93806615769. 1
93806615770. 2
93806615771. 3
93806615772. 4



Question Number : 94 Question Id : 9380664054 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of Action Research in proper sequence:

A. Formulation of action hypothesis

B. Identification of the problem

C. Collecting data

D. Evaluation of the result of action research
E. Formulation of action design

Choose the correct answer from the options given below:

AL B

B OO0

E,
C-\.
C

-

g
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FEORE

o

Options :

93806615773. 1
93806615774. 2
93806615775. 3
93806615776. 4

Question Number : 94 Question Id : 9380664054 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fhaTdH® MY & MgiaRad 9ol &I Ifd HH H TR &1

A. Tohameiie aRaea1 &1 fafo

B. U $f UgdH

C. Slel

D. fohaTdid QMY & YR ST Gedidh
E. fopam=itd [&srs4 &1 [Aaiu

H1d feu e fadm et o Ut 3R I
1.B,D,C,AE
2.C,D,E,A.B
3.B.ACED
4. A,B.C.D.E
Options :

93806615773. 1
93806615774. 2
93806615775. 3
93806615776. 4



Question Number : 95 Question Id : 9380664055 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following commissions according to their year of establishment in ascending order:

A. Justice Verma Commission

B. National Knowledge Commission
C. National Commission on Teachers
D. National Policy on Education

E. National Education Commission

Choose the correct answer from the options given below:

Options :

93806615777. 1
93806615778. 2
93806615779. 3
93806615780. 4

Question Number : 95 Question Id : 9380664055 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafcad ST &l 3-d QI 98 & IR 3RIGH HH T HaYd H3:

A. OrgHfd gt S
B. YT A AT
c. B1Y e S
D. P FRem =ifa
E. BT RIgfT ST

i3 oy U et 98 SR

L EC.BDB A

2.D,A,B,C,E

3IC.DEAB

4B, E.C,D A
Options :

93806615777. 1
93806615778. 2
93806615779. 3
93806615780. 4



Question Number : 96 Question Id : 9380664056 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Unruch and Unruch, arrange the curriculum development steps:

A. Content

B. Goals and objectives
C. Need assessment

D. Evaluation

E. Implementation

Choose the correct answer from the options given below:

93806615781. 1
93806615782. 2
93806615783. 3
93806615784. 4

Question Number : 96 Question Id : 9380664056 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 3R 3T & R, UIed9d] [dH 1 TR0l hI HafRyd
A. 3fa%]

B. &7 3[R 324
C. Mdgdhdl b
D. i
E. HAGUH
1d feu e fadmedi @ 98l SR g4
I1.B,C.,A . E.D
2.A.B,C.DE
3.EEB,.D,C A
4.A,E.D,B,C
Options :

93806615781. 1
93806615782. 2
93806615783. 3
93806615784. 4



Question Number : 97 Question Id : 9380664057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in the correct sequence for conducting educational research.

A. Review of related research and literature
B. Data collection

C. Formulation of hypothesis

D. Data analysis and interpretation

E. Identifying the research problem

Choose the correct answer from the options given below:

LEACRD
22A.C,D.B.E
3.C,A.E,D,B
4.B,C,D,E. A

Options :

93806615785. 1
93806615786. 2
93806615787. 3
93806615788. 4

Question Number : 97 Question Id : 9380664057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

01 Ay & FEfciad 9ol & 98l 3ighn o ayd o3|

A. T =0Ty 3R g &I gHien
B. 31T b

C. URGHeYAT (AH{oT

D. 3TeT fa%eiyuy 3[R sgRed]

E. QMY THWT &I UgdH

i3 oy U et 98 SR

l1.E.A CB,D

2.A.C,D.B.E

3.3.CCAE.D,B

4.B,C.,D.E.A
Options :

93806615785. 1
93806615786. 2
93806615787. 3
93806615788. 4



Question Number : 98 Question Id : 9380664058 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of an experiment in a research study.

A. Selecting the relevant variables

B. Designing the experiment

C. Conduct the intervention

D. Assigning the participants to the group(s)
E. Conduct the post-test

Choose the correct answer from the options given below:

1.D,E.B,A,C
265,15, B, E
3.B,D,E,A,C
4. A.B,D,C.E
Options :

93806615789. 1
93806615790. 2
93806615791. 3
93806615792. 4

Question Number : 98 Question Id : 9380664058 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

U QMY 3T H YT & HHfcRad <Rl & saaiedd oy

A. G =Rl DT g DAl

B. U4 &I {5118 &3l

C. BI&T DAl

D. UiTHITITl &1 YUE SArdfcd B
E. UY - G1&q01 U=nfd o

H1d feu e fadm et o Ut 3R I
1.D,E,B,A C
2.C,D,A.B.E
3. B.DE A C
4.A.B.D,C.E
Options :

93806615789. 1
93806615790. 2
93806615791. 3
93806615792. 4



Question Number : 99 Question Id : 9380664059 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Flander’s Interaction Analysis Category System (FIACS) consists of 10 categories (from 1-10).
Arrange the given descriptors/activity of each category in increasing order.

A. Asking questions

B. Lecture

C. Accepts or use of ideas of pupil
D. Pupil talk initiation

E. Praise or encouragement

Choose the correct answer from the options given below:

1.B,C,A,E,D
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Options :

93806615793. 1
93806615794. 2
93806615795. 3
93806615796. 4

Question Number : 99 Question Id : 9380664059 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS &1 iafchar [a=eior Jult Uullell (FIACS) 10 40T (1-10 d6) ¥ AdHR §49d1 g1 Udd
Juft & Uad faaRuiATiAfafY &l 9gd HH H gafeyd 1|

A. U9 TSI
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C. 9D & [dIRT BT IUART U1 WHR HIAT
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Options :

93806615793. 1
93806615794. 2
93806615795. 3
93806615796. 4



Question Number : 100 Question Id : 9380664060 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the given stages of reflection to write good reflective journal:

A. Feelings

B. Description
C. Action Plan
D. Evaluation
E. Conclusion

Choose the correct answer from the options given below:

B,A,D,E,C
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Options :

93806615797. 1
93806615798. 2
93806615799. 3
93806615800. 4

Question Number : 100 Question Id : 9380664060 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S Fda=iia 2Ny Uit ok & fofu [ad & Ued IRl &l Haid &

A. HIgATd
B. faazor
c. & gIoHl
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Options :

93806615797. 1
93806615798. 2
93806615799. 3
93806615800. 4



Question Number : 101 Question Id : 9380664061 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the given in chronological order.

A. Indian National Satellite (INSAT)

B. Centre for Educational Technology (CET)

C. Computer Literacy and Studies (CLASS)

D. Satellite Instructional Television Experiment (SITE)
E. SWAYAM

Choose the correct answer from the options given below:

LB B A
2.D.B,E.C.A
3.D.B,A.C,E
4.D,B,C,AE

Options :

93806615801. 1
93806615802. 2
93806615803. 3
93806615804. 4

Question Number : 101 Question Id : 9380664061 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRgd &1 HITHHIR TafRd &3 |

A. YRT PY JUE (314T)
B. Q&1 Ureifia dg (&g
C. DR YI&RT 3R LY (el )

D. JUUE 3G ol T (H1ge)

E. W94
Id feu 7Y faded! & Tgt SR -
1.B,C.D.E.A
2.D,B,E,C.A
3.0BACE
4.D,B.C.A.E
Options :

93806615801. 1
93806615802. 2
93806615803. 3
93806615804. 4



Question Number : 102 Question Id : 9380664062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the steps of systems approach given by Robb (1974).

A. Specifying appropriate strategies

B. Defining and assigning personnel roles
C. Determining initial behaviour

D. Defining objectives

E. Specifyving material, aids and media

Choose the correct answer from the options given below:

1.C,D,E,A, B

2B, A ECD

3.C,B,D,A,E

4 D,C,AE.B
Options :

93806615805. 1
93806615806. 2
93806615807. 3
93806615808. 4

Question Number : 102 Question Id : 9380664062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U4 (1974) GRT UG YOUERTT SUNTH & RN &l A RRUd i |

A. JHfd MGl &1 fafAfiéy o

B. HIftd Y13l BT TRUINT BT IR Ardicd 1
C. ARH AdgR IR &

D. 35! I URHINT Bl

E. I, Ug™® U0 3R Hilsar &I [3FEy &A1

+1d feu T fam el o 9t 3R I
1.C,D,E.A.B
2.B,AE, C,D
3. CCEDAE
4.D,C.AE.B
Options :

93806615805. 1
93806615806. 2
93806615807. 3
93806615808. 4



Question Number : 103 Question Id : 9380664063 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the follwoing steps of SWOT analysis

A. Develop strategic actions

B. Prioritize key-factors

C. Analyse external factors

D. Implement and monitor changes
E. Brainstorm and list factors

Choose the correct answer from the options given below:

L. BABEC
2. €, B.A DB, E
3.E,B,C,A.D
4. AD.EC.B
Options :
93806615809. 1
93806615810. 2
93806615811. 3
93806615812. 4

will>eRlve!
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Question Number : 103 Question Id : 9380664063 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :
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A. IUHITID HRABA! DI [AH R HAT
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Options :

93806615809. 1
93806615810. 2
93806615811. 3
93806615812. 4



Question Number : 104 Question Id : 9380664064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following goals of Individualised Education Plan (IEP) in correct sequence:

A. Specific

B. Attamnable

C. Time bound

D. Result oriented
E. Measurable

Choose the correct answer from the options given below:

L.BAEDE
2.8, BB, B,
3.E,A,B,D,C
4. A,.B,C,D.E

Options :

93806615813. 1
93806615814. 2
93806615815. 3
93806615816. 4

Question Number : 104 Question Id : 9380664064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HldTRS A&0TH FIoHT (3MMss4l) & HafiaRad d&dl &I Tgl 3HHH H ayd oy,
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Options :

93806615813. 1
93806615814. 2
93806615815. 3
93806615816. 4



Question Number : 105 Question Id : 9380664065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the focus points as given in document of NCF 2005 in correct sequence:

A. Availability of minimum infrastructure and material facilities for better learning
environment.

B. Reconstruction of school curricula to emphasize the pedagogic potential of work.
C. Integration of environment concerns into teaching disciplines.
D. Emphasis on promoting peace oriented values in all subjects.

Choose the correct answer from the options given below:

1D AC
2.D,A,B, C
3.B,D,C,A
4. A B,C.,D
Options :
93806615817. 1
93806615818. 2
93806615819. 3
93806615820. 4

Question Number : 105 Question Id : 9380664065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UIUW 2005 & ¥R § IfceRad ®ihd fa=gaii @l Igl thd § aferd ox:

A. S8R ST URAY & el AdH /a8l 3R Hifdd Giaensf o Sudsudl
B. B Sl FRAEUIIREY YU R 9 ¢ & g faererdl ursa=al &1 g
C. YA [AEHT § wiaRoiig GRIGRI &l UhIhRu]

. ¥i fawai & wrifd 3@ gl & Uided R a9d

1.B,D,A,C

2.D,A,B,C

3.B,D.C.A

4. A B,C.,D
Options :

93806615817. 1
93806615818. 2
93806615819. 3
93806615820. 4



Question Number : 106 Question Id : 9380664066 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements:

A. Formal system of schooling is based on the philosophies of idealism and realism.

B. The school’s formal social system has hierarchy of positions along which people are
assigned different roles.

C. Realism does not recommend the definite curriculum.

D. Informal and non-formal education have their roots in the progressive philosophy of
education.

E. Idealism believes that knowledge can be obtained without the help of teacher.

Choose the correct answer from the options given below:

,E Only
, D Only
, E Only
, D Only

Lt N
w0
NnOwo

Options :

93806615821. 1
93806615822. 2
93806615823. 3
93806615824. 4

Question Number : 106 Question Id : 9380664066 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T HYAl BT F9H B

A. 3=iRe faerrerdl yuirefl sezidreg sk gyrfdrg & griHi iR AR g

B. f9eTerd &1 3y s gorel 4 uel &1 9iari-al gidl 8, fSd SR &l &l
fafid YHnId sirdfed o Sl g

C. gUIYdre (YaTdTd Ura=dil & 39T g] ddl o

D. YIRS 3R TS Re1 ol oS e & wiiaRiicd =4 J Ffigd 8|

E. 3MGRIdIG &I [ayR g b 1&g &1 Ggradl & foH1 M 3HiSld {1 S Wb g |

i3 fow U et 4 98 SR

1. $IdC, D, E
2. $dd A, B, D
3. $Id B, D, E
4. ®HAd A, C,D

Options :

93806615821. 1
93806615822. 2
93806615823. 3
93806615824. 4



Question Number : 107 Question Id : 9380664067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT related to Soren Kierkegaard?

A. Truth is introvert and subjective.

B. The world is ideas-centred. Entire universe is only an 1dea.

C. Existence of individuality is reliable and it comes prior to thinking.

D. In order to find self-existence, ‘subjective experience’ and objectivity both are important.
E. Existential self-experience is necessary.

Choose the most appropriate answer from the options given below:

1. A, C, E Only
2.B, D, E Only
3. A, B, E Only
4. B, C, E Only
Options :
93806615825. 1
93806615826. 2
93806615827. 3
93806615828. 4

Question Number : 107 Question Id : 9380664067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad # 9 1 9 IRA Sidhq 3 Ydfia T8t 51

A. T i iR fawafy grar gl

B. W1Td fddR-dhi=<d 31 U0l sIgNUS dhddl Ueh f[aaR g

C. AfRIRD I I 3H&Id fd4G-114 g du1 4g fid- 9 ugd HIdig|

D. 3TH- KT F1d B & (o8 TIIHE 3FHT 3R a8, Gl Agayul g |
E. 3RKIdTd 31dH-3{4Hd 39S g |

i3 oy U et 98 SR

1. $AA A, C,E
2. HddB.D.E
3. $Id A, B,E
4. Hdd B, C. E
Options :
93806615825. 1
93806615826. 2
93806615827. 3
93806615828. 4



Question Number : 108 Question Id : 9380664068 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify correct statements form the following:

A. Factor cost of education can be exactly put in the same fashion as treated in the case of a
firm or an industry.

B. There are no separate price indices for use in educational set up.

C. Educational demand is an external determinant of educational cost.

D. Rate of economic growth does not limit availability of revenues to education.

E. Unit costs have been used in the literature in many ways according to the objectives in view.

Choose the correct answer from the options given below:

1. A, B, D Only
2. A, B, E Only
3.B, C.D Only
4. B, C, E Only

Options :

93806615829. 1
93806615830. 2
93806615831. 3
93806615832. 4

Question Number : 108 Question Id : 9380664068 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFrafiiad # ¥ U8l Syl & UgaH a3 -

A. RIET & SRS - el 1 Bich 94 gl erar S Yol § 91 b Uh 3ty 618 (BH) AT
Udh I & feru

B. & a1 T IUGI 3 U - Ydbidh el Y IUcis gl gldl |

C. Qe G AT&D ANTd DI U 918l HURD gl

D. 3fdd gfg &1 &2 & 5 31 BT SUTsUdl DI HifHd g1 DRl g

E. Sdls AlTd DI Ydied Hiigd T f¥71d Ie=al & 38R $s YbR I UGN fhd1 T |

I.Pdd A, B,D
2. $Id A, B, E
3. $dd B, C, D
4. ®Ad B, C, E

Options :

93806615829. 1
93806615830. 2
93806615831. 3
93806615832. 4




Question Number : 109 Question Id : 9380664069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are salient features of Zero-Base-Budgeting (ZBB)?

A. Adaptability is necessary.

B. It considers an incremental approach.

C. Decision making units need not to be identified.
D. It considers ‘choice and withdrawal’.

E. Management hierarchy is not a component.

Choose the correct answer from the options given below:

1. Aand D Only
2. Aand B Only
3.B and C Only
4. C and E Only
Options :
93806615833. 1
93806615834. 2
93806615835. 3
93806615836. 4

Question Number : 109 Question Id : 9380664069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad o O &I U Y- 3YR-9oId R (zBB) B Hgdqu] fa=Ivdri g

A. FAESHIT 3HaRI B

B. U8 WHETHcP el R [daR HR1 |

c. Fvia (A sH3al & ugdH &3 $ 3avaddl ol o
D. g 99 3R I8 IR f[ddR SHRar gl

E. U§¢H Ug UIUTH®| U 9 gl o

14w U et 3 98 SR

1. Hdd A AR D
2. Hadd A 3IRB
3. HadB 3R C
4. $Had C 3ARE
Options :
93806615833. 1
93806615834. 2
93806615835. 3
93806615836. 4




Question Number : 110 Question Id : 9380664070 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements related to learning theory approach to counselling are
INCORRECT?

A. Dollard & Miller relates psyhoanalytic methods to reinforcement learning theory.

B. Counselling, according to Pepinskys, aims to strengthen the counselle’s behaviour.

C. Eysenck refers to conditioning methods in counselling as “behaviour theraphy*

D. Irrational behaviour is learned and it cannot be changed through learning or relearning.

E. According to Pepinskys, the ‘cultural context’ does not provide conditions assumed to be
antecedent to subsequent learning.

Choose the correct answer from the options given below:

1. A and C Only
2.B and C Only
3.B and D Only
4. C and E Only
Options :
93806615837. 1
93806615838. 2
93806615839. 3
93806615840. 4

Question Number : 110 Question Id : 9380664070 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WAL & 3TH Rgld S ¥ Hefta Haffad sy # 4 19 3 2d 82

A. SIdIS 3R e A YAsad siferma Rigid O a-ifa=es fafe o deiferd fdar

B. UfU-0d] & 3JUR, WM &1 780 TR & IdgR &l Ydd HA1 5

C. AEUD WHR H srgaeH Al &l <oragR AUl & w0 d Heiid Hd g1

D.Wﬂ@@ﬂﬁ%ﬂ@ﬁm%ﬂmma{wwmﬁwﬁaﬁﬂﬁﬁmm
gl g |

E. U0l & 3{UR, <" idd Gerl ugraddl siferm o1 gdadf At S areft 2rdl/
RECRICINHEERERGE]

|.Had A 3R C
2. HIAB AR C
3. $ad B AR D
4. Had C 3R E

Options :

93806615837. 1
93806615838. 2
93806615839. 3
93806615840. 4




Question Number : 111 Question Id : 9380664071 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify correct assertions according to Roger’s theory of personality.

A. Self-actualisers are the healthiest one percent of the population.
B. The perceived self influences both the person’s perception of the world and his or her
behaviour.

C. People are likely to function more effectively if they are brought up with unconditional
positive regard.

. Each of us has an ideal self.

. Individuals, whose self-concepts match their feelings and experiences, must defend
themselves against the truth.

m O

Choose the correct answer from the options given below:

l1.A.B,COnly
2.B, C,D Only
3.B. D, E Only
4.C,D, E Only

Options :

93806615841. 1
93806615842. 2
93806615843. 3
93806615844. 4



Question Number : 111 Question Id : 9380664071 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UoR & Hfdkicd Riid & 3HUR gl €¢ YRUN3H &l UgdH B |

A. W& 914 [-aTd ST & WRITH U UidRd gid g |

B. Ud&idd @ fh 4l Afdd & AdgR Tl §HAT & 34d d1¢, T1 Dl YHIfdd Sl ¢

C. gfe drTl & Udo- YHRIAD M & 1Y Tifeid-giftid fdbar Su i 39 3D UHIE!
=YY BT B3 Bl GHE gidl o |

D. 89 1 ¥ Ud® B U G- gidl 5|

E. Aidadl, fSHd1 - Hhed-10 F-ch! U131 3R 3ydl 9 GUfd gldi g, DI 9d &
faeg 3101 & H-1 d1igu|

I feu 7Y fddhed! & Tl 3R -

. $AA A, B, C
2. HEdA B, C,D
3. $Id B, D, E
4. ®HAd C, D, E

Options :

93806615841. 1
93806615842. 2
93806615843. 3
93806615844. 4

Question Number : 112 Question Id : 9380664072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of these statements does NOT describe snowball sampling correctly?

A. Tt is a non-probability sampling technique.

B. It is used when the target population is readily available.

C. Initial participants refer others to take part in the study.

D. It ensures equal chance of selection for all individuals.

E. It is commonly used in sociological and qualitative research.

Choose the correct answer from the options given below:

1. Aand E Only
2. B and D Only
3. Aand C Only
4. B and E Only
Options :
93806615845. 1
93806615846. 2
93806615847. 3
93806615848. 4



Question Number : 112 Question Id : 9380664072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFrafafad § ¥ o1 A Sy fgudhgd ufdezid o1 a8l faavor g <d g2

A. U8 RIS T Ulde=i- dob-id g

B. id Afefd SIHEEAT ST 9 SUds g dl 98 Wgdd gldl o

C. AR TR =1 B 3= § YR o & T SRR avd o
D. gg 9l Afdadl & ol o & SRIeR 3aaR YRdd Hcdl g

E. U8 YHSIRIRGAIT 3R 0TS MY H JE-I0d1 W gidl g

|. Hdd A 3R E
2. Hadd B AR D
3. had AR C
4. $Had B AR E
Options :
93806615845. 1
93806615846. 2
93806615847. 3
93806615848. 4

Question Number : 113 Question Id : 9380664073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the main objectives of in-service education for teachers?

A. To provide financial incentive to the teachers.

B. To help teachers to know their problems and to solve by pooling their resources and wisdom.
C. To broaden the mental outlook of teachers.

D. To increase the professional efficiency of the teacher.

E. To provide the facility away from the place of duty.

Choose the correct answer from the options given below:

l1.A,E,DOnly
2. A, B, C Only
3.B,C, D Only
4.C,D,E Only
Options :
93806615849. 1
93806615850. 2
93806615851. 3
93806615852. 4



Question Number : 113 Question Id : 9380664073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fR1&1bl & fe1U YdIhreliH g & G Sexg HIH U g2

A. Riefa! 3l faxiig Ui UaH &=l

B. 181 1 I1eh! YOHIU J1d B T G DA 7T ST GH1EHT 3R U=l & g+
Y I GHTYH HAT

C. el & AMid =fPHior &1 fdEdR B

D. 1811 D URIaR cérdl J gfeg DT

E. AR Y UL Yiq4T UgH DAl

i3 Fow U et 3 wE SR

.HAdA,E,D
2. $IA A, B, C
3. $Id B, C, D
4. ®HAd C, D, E

Options :

93806615849. 1
93806615850. 2
93806615851. 3
93806615852. 4

Question Number : 114 Question Id : 9380664074 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify INCORRECT statements.

A. Curriculum is based on the philosophy, goals and values of edcuation.

B. Curriculum refers to all the educational activities of the school in widest possible sense.
C. Curriculum is basically concerned with school subjects.

D. Curriculum is a part of syllabus.

E. Curriculum includes not only indoor activities but also outdoor activities of the school.

Choose the correct answer from the options given below:

1. Aand E Only
2.D and B Only
3. C and D Only
4. E and B Only
Options :
93806615853. 1
93806615854. 2
93806615855. 3
93806615856. 4



Question Number : 114 Question Id : 9380664074 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3R HUAI BT UgdH B

A. UTEIT1 181 & SR, dedl IR Tl W 1R g

B. UTeaad] Gay 19 §4d {fd o faarerg &1 gl e faal of dafdd &l gl

C. Ureu<al gerad faened! fawal 9 96U g

D. UT&Id], UTeddhH &1 HAT g |

E. Uieadd] | 9 $ad [deed oI 3idRke (SsR) Tidfaiedi 2nfid gidl € afcn agd
Tfarafey i nffa g g

i3 fow e et 3 wE SR

1. Hdd A RE
2. $ad D 3R B
3. Had C 3R D
4. HAd E 3R B

Options :

93806615853. 1
93806615854. 2
93806615855. 3
93806615856. 4

Question Number : 115 Question Id : 9380664075 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the requirements of effective curriculum transaction?

A. Review of the work in prior.

B. Material organisation as available in the school.

C. Time management .

D. Knowing, observing and understanding children at all times.
E. Individual responsibility.

Choose the most appropriate answer from the options given below:

1.A, B, C,D Only
2. A, C,E Only
3.E.C, AOnly
4. B, C, E Only
Options :
93806615857. 1
93806615858. 2
93806615859. 3
93806615860. 4



Question Number : 115 Question Id : 9380664075 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UHId] UTST=d] YadgR &1 &l 3 dhdld g2

A.Jd O &1 B1 geief

B. fdeIerd ¥ 9y Iuds Yifdd Il TireH

C. 9HY U4y

D. B UHY 1| &l SIHAI, 3ddidd ST 3R THH]

E. AfRATd 3wRaIAd

1.Hdd A, B,C, D

2. HIA A, C,E

3. HAddE, C. A

4. $Hdd B, C.E
Options :
93806615857. 1
93806615858. 2
93806615859. 3
93806615860. 4

Question Number : 116 Question Id : 9380664076 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the essential characteristics of good research hypothesis?

A. It should be clear and precise.

B. It should be testable.

C. It should be based on ethical consideration.

D. It should be stated in general terms without specifics.
E. It should indicate a relationship between variables.

Choose the correct answer from the options given below:

1.A,B.EOnly
2.C,B,AOnly
3.A.D, COnly
4. C, D Only
Options :
93806615861. 1
93806615862. 2
93806615863. 3
93806615864. 4



Question Number : 116 Question Id : 9380664076 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFafeRad § O &19 Il dgar 21y UREG g1 &1 -ard [a=ivdid g2

A. U8 WY 3R Y1 gl dIigu]|

B. U8 WUy gl 91igu|

C. gg Afdd WSR3 wr nuiivd gt argul

D. Ug o1 [aRiyarsil & G- Wsal H oad i Sl dligU]|
E. 34 ORI & oid e G=IH1d1gu|

|.Hdd A, B.E
2. HAd C, B, A
3. Hdd A, D, C
4. ®HAAC, D
Options :
93806615861. 1
93806615862. 2
93806615863. 3
93806615864. 4

Question Number : 117 Question Id : 9380664077 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ethical considerations in Educational Research include

A. Informed consent

B. Confidentiality of participant data

C. Manipulation of data to support hypothesis

D. Avoidance of plagiarism

E. Providing misleading information to participants

Choose the correct answer from the options given below:

1. B, C, E Only
2. A,B,D Only
3.C,A, E Only
4.E, C,AOnly
Options :
93806615865. 1
93806615866. 2
93806615867. 3
93806615868. 4



Question Number : 117 Question Id : 9380664077 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Q& WY H Afdd WRIGR / Har | A g

A. gfad ggafd

B. UfQYRT S1et & My-igar

C. URG AT AU o o0 STel H g
D. Uiigid® IR U g1

E. UFAUIRTal &1 YD a1 UeH DAl

|.HddB. C.E
2. HAd A, B, D
3. HAdd C. A E
4. HAAE, C, A
Options :
93806615865. 1
93806615866. 2
93806615867. 3
93806615868. 4

Question Number : 118 Question Id : 9380664078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the follwoing is “True* about Portfolio?

A. Portfolio contains an index or map

B. Portfolio contains a collection of selected, illustrative material drawn from practice and
providing evidence of it.

C. Portfolio generally contains reasonably low validity and very high reliabilty

D. Portfolio contains commentary discussing the evidence

Choose the correct answer from the options given below:

1. A, C,D Only
2.B, C, D Only
3. A, B, C Ounly
4. A, B, D Ounly
Options :
93806615869. 1
93806615870. 2
93806615871. 3
93806615872. 4



Question Number : 118 Question Id : 9380664078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UICHIfe™l & IR H HIH I Td g

A. UICWITerd! | AT a1 AR 2 gidl g |
B. UICHIfe™dl H dgR U UK 99Hd, UGRHSR] Grl &1 Ydha AMH Bidl & a4l 39!
1&g UGH fhar SIar g |
c.%ﬁuﬁiﬁ?ﬁﬁ JHI difbd &9 U HH dedl 3R dgd ¥ faya-iaar i gidl
1
D. UICWiierdl ® Tied &1 faul o drel fewull/ i1 aiiferd gidl o

i3 fow e et 3 wE SR

. Hdd A, C, D
2. $Id B, C, D
3. BAd A, B, C
4. ®Hdd A, B, D

Options :

93806615869. 1
93806615870. 2
93806615871. 3
93806615872. 4

Question Number : 119 Question Id : 9380664079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct in context of writing objectives in behavioural terms?

A. Robert Miller’s approach (1962) has its origin from biological sciences.

B. Robert Mager’s approach gives emphasis on action verbs rather than mental processes.

C. Regional College of Education, Mysore (NCERT-1972) approach for writing behavioural
objectives emphasized on mental abilities.

D. Robert Mager concentrates on cognitive, atfective and psychomotor objectives.
E. B. S. Bloom has shifted the emphasis from content to objective.

Choose the correct answer from the options given below:

1.B, C, E Only
2.A,C,D Only
3.B, D, E Only
4.C,D, E Only

Options :

93806615873. 1
93806615874. 2
93806615875. 3
93806615876. 4



Question Number : 119 Question Id : 9380664079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HdgR & Ual H e o & Yo d FofafRad 4 o 9 ad o

A. 93 THER IUNTH (1962) B IH Sild a3l 4 g
B. 3¢ AR IUFTH AFRIS Ulharaii &1 Soi fharas foharsii iR §d ¢al o

C. 8T T8 Teifdened AR (NCERT-1972) SURTH H HIGRIAD I3 oG- & folU
HHERIS gdIsi] W §d fear|

D. ¢ TR YHTHD, YIGATHD 3R TAITIS] Ie341 IR bi-sd W ¢ |
E. ol U, &{ A 3{dd¥] 9 9d &l I3 WR g&didid fhar|

i3 fow e et 3 wE SR

1. $ddB, C, E
2. $Ad A, C, D
3. %4d B, D, E
4. ®Hdd C, D, E

Options :

93806615873. 1
93806615874. 2
93806615875. 3
93806615876. 4

Question Number : 120 Question Id : 9380664080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about educational technology?

A. Educational technology borrowed the term ‘systems approach’ from management studies.
B. By the mid 1950s, educational technology borrowed the term ‘systems approach’

C. Technology of Education implies the use of audio-visual aids.

D. Education technology borrowed the term ‘corrective feedback’ from cybernetics.

E. In initial phase of development of educational technology, it mainly referred to ‘technology
in education’

Choose the most appropriate answer from the options given below:

A, C,
.A, D, E Only
A,C,D, E Only

Options :

93806615877. 1
93806615878. 2
93806615879. 3
93806615880. 4



Question Number : 120 Question Id : 9380664080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfaRad J ¥ & H J $yd Ui&d da-idl & [dvg H Td g2

A. Qe dH-1d1 - U IUNTH: &1 U Yd o= - I IR ferd|
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E. Qf&d qh-Idbl & [dbTY & YTl 901 H, 35! GeAddl g § dh-iar & =y o
J&Yd fdr ST 4T

i3 fow e et 3 wE SR

1. HAA A, B, C
2. $Ad A, C, D
3. BAd A, D, E
4. ®HAdd A, C,D, E

Options :

93806615877. 1
93806615878. 2
93806615879. 3
93806615880. 4

Question Number : 121 Question Id : 9380664081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify correct statements.

A. A wiki allows multiple users to read and write a web document but editing is not allowed.

B. A vlog uses videos as the primary media source.

C. Microblog services allow user to send text based updates or post short messages.

D. To create a wiki for a course, faculty can use either a campus wide learning management
System or an Open source programie.

E. A blog consists of series of time stamped entries posted by readers followed by blog’s
creator.

Choose the correct answer from the options given below:

1. A, D, E Only
2.B, C, D Only
3. A, B, COnly
4.B, C, E Only
Options :
93806615881. 1
93806615882. 2
93806615883. 3
93806615884. 4



Question Number : 121 Question Id : 9380664081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U &Y &1 UgdHE B

A. TS @] (wiki) Bs SUARTEGI Bl U 99 3MHcRd ol U d fera- &1 34 ¢dl 8
fdbq TUTeH &l 31Hfd =TT B

B. Ut &I (vlog) AITSTl Bl UIyfHd HIfSTT U914 & U H YN &Rl g |

C. HI3eh| - ST YaTd SUGNTddl &) 2ed - TR Y= Hold 31ydl BI¢ U= UoH Dl
A G

D. Tl UreuehH & feTU [ad! (wiki) D1 A0 B g FR1ere a1 ol Ui - ot sifenmm
Yat o aeT g1 Yol YU 3G BT SIS Tl gl

E.%mﬁ”m%fﬁu;-wﬁmuﬁw,ﬁﬁwaﬂﬁ%aﬁﬁ$ﬁﬂmmaﬂmﬁﬂ@ﬁ

, Qe |

i3 oy U et 98 SR

1. $IA A, D, E
2. $ad B, C, D
3. BAAA, B, C
4. HAd B, C, E

Options :

93806615881. 1
93806615882. 2
93806615883. 3
93806615884. 4




Question Number : 122 Question Id : 9380664082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify correct statements:

A. LMX theory is dyadic theory of leadership

B. Variable-value is a type of Poka-Yoke methods.

C. Six-sigma techniques are used basically in martial arts.

D. C. K. Prahlad highlighted the untapped market potential of the world’s poorest popultions.
E. Fiedler’s contingency theory advocates that there is always one best style of leadership.

Choose the correct answer from the options given below:

1. A & D Only
2. A& C Only
3.B & E Only
4. B & D Only
Options :
93806615885. 1
93806615886. 2
93806615887. 3
93806615888. 4

Question Number : 122 Question Id : 9380664082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T Bl D1 UgdHE B

A. TAUAUT REfd qcd 3 fgaid Rsid 31

B. T-AH UIHI-did [l ST UhR B

c. Fya-Rar da-id greaaar arid sy & ugdad gidi g |

D. Tl. &. UgdG A [y oI FHe-ad S & 3HaI6! S6R YHIGHT i X@ifhd 6|
E. ek & 3muifa® RiGid & AR gH Add &1 Ud 98 el gidl g

14w U et 3 98 SR

. HITA&D
2. HITA & C
3. HdAB & E
4. HIAB & D
Options :
93806615885. 1
93806615886. 2
93806615887. 3
93806615888. 4




Question Number : 123 Question Id : 9380664083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to NEP-2020, which of the following recommendations are true?

A. There will be one umberella institution, the National Higher Education Regulatory Council
(NHERC).

B. There will be one independent vertical for accreditation, called the National Accreditation
Council (NAC).

C. The regulatory regime shall not encourage private philanthropic efforts in education.

D. Within 15 vears, all higher educational institutions in India will aim to become independent
self-governing institutions.

E. Private higher education institutions will be empowered to set fees for their programmes
independently.

Choose the most appropriate answer from the options given below:

1. A, B, D Only
2.B, C, D Only
3.B, D, E Only
4.C,D, E Only
Options :
93806615889. 1
93806615890. 2
93806615891. 3
93806615892. 4



Question Number : 123 Question Id : 9380664083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U 3 Ul - 2020 & IR FHgfeiad 4 9 o4 O Rineiel g g

A. V1Y IR [21ef1 faf A e uRug (NHERC) FUT Uh 99 HSIe-ThR] SRIH g
B. BRI YR UREE (NAC) U1 U Wi S WrA & foe ghm|

C. ﬁﬁumaﬁwﬁfmﬂﬁﬁﬁmﬁumﬁaﬁmﬁaﬁml

D. 1aa§ﬁ,wﬁﬁmﬂ3ﬂﬂ?ﬁaﬁﬁﬂwﬁré€wmmﬁwﬁﬁuﬁﬂmaﬁﬁ
Sl

E. [l S=aar e S9! &1 WdF fd O 304 srdbdl & 1wy F4iRd o34 & Afed

PlISESRIT
I feu 7Y fddhed! & Tl 3R -

. $dd A, B, D
2. HEdA B, C,D
3. $Id B, D, E
4. ®HAd C, D, E

Options :

93806615889. 1
93806615890. 2
93806615891. 3
93806615892. 4

Question Number : 124 Question Id : 9380664084 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct principles of the UN Convention on the Rights of the People
with Disabilities.

A. Non-discrimination

B. Accessibility

C. Partial participation

D. Equality of opportunity
E. Segregated approach

Choose the correct answer from the options given below:

I

2. A

3. A,B C Only
4. A,C,D, E Only
Options :

93806615893. 1
93806615894. 2
93806615895. 3
93806615896. 4



Question Number : 124 Question Id : 9380664084 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG Y feaimTe SR AHET & 9d Hgid s U g?

A. TR-HgYra/3f-faug
B. YHIA/Ugd

C. AR YgHIRTar
D. 3[dWR DI JHHEI

E. QYdhR] el

|.$Hdd B, C.D

2. HAd A, B, D

3. HAd A, B, C

4. B A, C.D,E
Options :
93806615893. 1
93806615894. 2
93806615895. 3
93806615896. 4

Question Number : 125 Question Id : 9380664085 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are INCORRECT regarding benefits of inclusion.

A. Social competence and communication skills of children with diverse abilities are
deteriorated in inclusive settings.

B. Children with disabilities demonstrate high levels of social interaction with non disabled
peers in inclusive settings.

C. Friendships more commonly develop between children with disabilities and those without
disabilities in inclusive settings.

D. Children with disabilities demonstrate high levels of social interaction with disabled peers in
inclusive settings.

E. Social acceptance of children with diverse abilities is decreased in inclusive settings.

Choose the correct answer from the options given below:

1. Aand E Only
2.B and C Only
3. C and E Only
4. A and D Only
Options :
93806615897. 1
93806615898. 2
93806615899. 3
93806615900. 4



Question Number : 125 Question Id : 9380664085 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A & ol & IR H FEiiRad § U o U HUF 30 g:

A. fafay emranel aTd STeTe! & ATl Tl 3R YUY SIred GHTER TR H
B.%E%ﬁ%mmﬁm.ﬁmww@wmﬁmw
c.ﬁgluﬁﬁwﬁwwaﬁ?wwamﬁm%mﬁ%l

D. faeaiT areies FHTai uRewr # faeai gasiEmt 9 wmifsid Sarihar &1 3= TR aid
E.%ﬁuﬁaﬂﬁﬁﬁﬂmﬁa@maaﬁaﬁwmﬁmrdmwaﬁﬁ%l

|.Hdd A 3R E
2. HadB IR C
3. hadd C ARE
4. had A 3R D
Options :
93806615897. 1
93806615898. 2
93806615899. 3
93806615900. 4



Question Number : 126 Question Id : 9380664086 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

List I List IT
Statement Thinkers

This education ought to be for them a

; : : I. |R.N.Tagore
kind of insurance against unemployment. g

You cannot teach a child anymore than
B.|you can grow a plant. The plant develops | II. | Sr1 Aurbindo
its own nature.

Every child is an inquirer, an
C.|investigator, analyser, a merciless I1I. IM.K. Gandhi
anatomist.

True education consists in knowing the
use of any useful material that has been
D.|collected to know its real nature and to  |IV. |Swanmu Vivekananda
build along with life a real shelter for
life.

Choose the correct answer from the options given below:

l.LAIVBHOICIDII
22ANIBIVCIIDI
JJAONBIVCIDII
4 AIVBICIHDIII
Options :
93806615901. 1
93806615902. 2
93806615903. 3
93806615904. 4



Question Number : 126 Question Id : 9380664086 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

g1 HaIl-1T
FYT

W[ RRTRETT |, [ore o 31

3T I Udh IS 3911 Ydod g, 3l
B.| Sl U ST @ Ul Udhd o | e 1L | off 3Rfa<
U Upfd fabd HRaT g

Udd dleid Udh Slidddl, -9y, .
Clate T II1. | UH. &, Tieht

aRdfad f21em &1 31y g faedt ot
UG Yabferd Il & dRdfdd . .
D.| = T T € S % e IV, | 9H] f[dd@arg
U 3y T [ S

i ST 1T fdd el & U Ul 3R &1 94+ Difolu -

l.LAIVBIOICIDII
2.ANIBIVCIIDI
JJANBIVCIDIII
4 AIVBICIDIII
Options :
93806615901. 1
93806615902. 2
93806615903. 3
93806615904. 4



Question Number : 127 Question Id : 9380664087 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
To cut the relationship of various sense
A.|Dharana L i :
organs from the respective subjects
To apply the mind to some internal
B. | Pratyahar II. PPy
subject
C.|Dhyan III. [ Dhyan becomes stable in Dhyeya
) To concentrate attention on a particular
D.|Samadhi V. P

subject of mind

Choose the correct answer from the options given below:

. AINIBICIVDII
2Z.ANBINICIVDI
JJANIBICIVDIII
4 AIIIBIVCIDII
Options :
93806615905. 1
93806615906. 2
93806615907. 3
93806615908. 4




Question Number : 127 Question Id : 9380664087 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

-1 G
N - | [F S i ws
i [ - %M%WWWWW
C.|am I1L. | 4T, & § fRR GIdT 3|
oy - - %%WWH@W@H
i 14U U f[ddedl § U Ul 3R &1 94 Do -

I.LANIBICIVDII
2AINBIICIVDI
JJANNBICIVDIII
4 ANIIBIVCIDII
Options :
93806615905. 1
93806615906. 2
93806615907. 3
93806615908. 4



Question Number : 128 Question Id : 9380664088 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

ListI List IT
Commission and Committees Year
A.[National Commission on Teachers I. 12007
B.| Yashpal Committee Report I1. | 1999
C. | Justice Verma Committee Report IMI.|2012
D.|National Knowledge Commission V. [2009

Choose the correct answer from the options given below:

l.LAIBIOCIIDIV
2Z2ANBHICIDIV
JJAIBIHOICIDIV
4 ANIBIVCIIIDI
Options :
93806615909. 1
93806615910. 2
93806615911. 3
93806615912. 4

Question Number : 128 Question Id : 9380664088 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 D1 e Hifoie:

s T
A |78 fRreidh ST I. 2007
B. | g=1ure giffd Raid II. {1999
C. |=argfd 9ai gitfa fard 0L (2012
D. | TP 3 3T IV. [2009
I feu ¢ fadedl 1 © Hel SR &I 98- BT ;

ILLAIBICIHIDIV
2ZANBIHOICIDIV
JJAIBOICIODIV
4 ATBIVCIIDI
Options :
93806615909. 1
93806615910. 2
93806615911. 3
93806615912. 4



Question Number : 129 Question Id : 9380664089 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST1 LIST-1I
Theory Atiributes
; ; Individuals take actions that will likely
£ (sgmalme theary L increase their future earnings
Individuals choose a course of action
B.|Human capital theory II. | that 1s most in line with their personal
preferences
C.|Behaviourism I11. | Information asymmetry
15 [ifieoryot miimmidhaie v Study of politics should begin with

society

Choose the correct answer from the options given below:

l.LAIBIVCIHIDII
22AIVBICIDIII
3JAIVBIICIIDI
4 ATMBICIVDII
Options :
93806615913. 1
93806615914. 2
93806615915. 3
93806615916. 4




Question Number : 129 Question Id : 9380664089 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Gel-11 &1 e Hifsie:
= T
Al dda Rieia N ?éﬁgﬁ;fqﬁrs‘mm g oll 3@
- ; afad ag 1 AeH I § off 3!

B.|HM4 Yol Risid IL | e o SR

C.|dgRdla IIL. | T 3raAfAfd

D. | dda7Td gA1d &l Raid Iv. aﬂ%qw MTCT <PT SR JHIST H = BT
i< 14U U [qd el § U Ul 3Tk &1 94 Dol -

l.LAIBIVCIHIDII
2AIVBICIHDIHI
3JJAIVBIICIIDI
4 ANIBICIVDII
Options :
93806615913. 1
93806615914. 2
93806615915. 3
93806615916. 4



Question Number : 130 Question Id : 9380664090 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1

LIST-II

A.|Repression

Assigning logical or socially desirable
motives to what we do so that we seem
to have acted rationally.

B.|Rationalization

IL.

Excluding from conscious awareness
impulses or memories that are too
frightening or painful.

C.|Reaction Formation

III.

Assigning our own undesirable qualities
to others in exaggerated amounts.

D.|Projection

Concealing a motive from ourselves by
giving strong expression to  the
opposite motive.

Choose the correct answer from the options given below:

l.AIMIBIVCIDII
2AIVBIICIIDI
JJAIBIOCIHIDIV
4 ATIBICIVDIII
Options :
93806615917. 1
93806615918. 2
93806615919. 3
93806615920. 4




Question Number : 130 Question Id : 9380664090 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

=7 LI
THAR Sl Bl dlfcheh A1 YIS =0
) - L [t SRS fRTE B
qlids 1 dbeTd SR &= Felld ol |
SA! A1 &P Fferdt a1 ST BT
B. | dTfh IR0l U | o S Re e dr & ger
c. | wfafga fmfor T ol R SRifd B
| faudia Hee @ Felg sifireafad G
D. | wEaor | s @ /g guRT
1 Ry e fad el 3 € U SR o1 90 B -

l.LAINIBIVCIDII
2.AIVBIICIIDI
JJAIBICIHIDIV
4 AIBICIVDII
Options :
93806615917. 1
93806615918. 2
93806615919. 3
93806615920. 4




Question Number : 131 Question Id : 9380664091 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-II

key terms of model of intellect Description

o Altering or restructuring intellectual
A.|Cognition L 2 &

= contents.

B.|Relations II. | An ordering or classification of relations.
C.|Systems III. | A connection between concepts.
D.| Transformation IV.|Recognizing and discovering.

Choose the correct answer from the options given below:

lLAIBICIIDIV
2 ANBIVCIDII
3.,AIVBIHICIIDI
4 ANMMIBIICIDIV

Options :

93806615921. 1
93806615922. 2
93806615923. 3
93806615924. 4




Question Number : 131 Question Id : 9380664091 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

A. [T I. ?ﬂ%ﬁ SERSLARCERIRIERNED
B.|Udy IL. |Hael BT HH AT B0
c.|gumeit 1. | db a1l & o gae
D.|=UidRul IV. | HI-GATHR] 3R JId dAl

+d faU 1T fddedl § U Ul IR &1 98- Difold :

l.LAIBIOCIHIDIV
22ANBIVCIDII
3.AIVBIICIIDI
4 ANMIBIICIDIV
Options :
93806615921. 1
93806615922. 2
93806615923. 3
93806615924. 4



Question Number : 132 Question Id : 9380664092 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT: Match according to NEP 2020

LIST-I
Issue

LIST-II
Recommendation

Platforms will be developed so that

A.|Recruitment and deployment of teachers | 1. |teachers may share ideas and best
practices
- ; No school stage will be considered more
B. | Service environment and culture IL.

important that any other

Transfers will occur in very special

C. | Continuous professional development L. | .

circumstances.

School complexes could also share
D.|Career management and progression IV. | counsellors, trained social workers, and

technical and maintenance staff etc.

Choose the correct answer from the options given below:

. ADIBICIVDIII
2ANIBICIVDII
JJAIVBICIDII
4 AMIBIVCIDII
Options :
93806615925. 1
93806615926. 2
93806615927. 3
93806615928. 4




Question Number : 132 Question Id : 9380664092 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YAI-1 & 1Y Y11 1 A DI T 3 U1 2020 & IR YHRIT B

T fash e fobu SiTad difas Ried
A. | Rrerept Bt T 3R fFgfda I Eﬁraﬁ?ﬂfﬁﬂnwmwm
N iz i faeread =)o fhdt 3= =R &t
B.|HaT URA 3R Hhid I | o o ST
C.| Had U= fabr™ 111 | RIHIeR T g d fa=iy gikfyfaal o git
feTery uRER uRERierdr, ufRiféa
D. | HRIR UdeH 3R Ui V. |[arifSis sRiddl 3R ddh-ld] Ud

i ST 71U fdd el & T Ugl 3R &l 94+ Difolu -

L AIBICIVDII
2.ANMBICIVDII
3,AIVBICIODII
4 AIIBIVCIDII

Options :

93806615925. 1
93806615926. 2
93806615927. 3
93806615928. 4




Question Number : 133 Question Id : 9380664093 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT: CIPP model of curriculum development

LIST-1

LIST-II

A.|Context

To determine the curriculum is
accomplish the intended goals.

B.|Input

IL.

To address curriculum implementation
decision that control and manage the plan
of curriculum.

C.|Process

III.

To provide information for determining
how to utilize resources to meet
curriculum goals.

D.|Product

IV.

To study the environment of curriculum
implementation

Choose the correct answer from the options given below:

l.LAIBICIIDIV
2Z2AMBIOCIDIV
3.LCAONBICIVDIIL
4 AIVBIICIIDI

Options :

93806615929. 1
93806615930. 2
93806615931. 3
93806615932. 4




Question Number : 133 Question Id : 9380664093 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 &b 1Y Geil-ax &1 el Sifore: ursa=at fdwy &1 9 o Ui bt dfsd

T -1
i s : g@ﬁﬁmmaﬁﬁqﬁ
Urauadl fharag- Huig o g4t
B.| 3 (314<) IL. [HxAT Sl U0 gl &1 A sik
USied &
Ureudl A&l ®f G & & forg
C.|ufean 111 | G181 & SUART &1 FYR0 & &
foTg Y1 UaH Sl
| urETaat erEiaad & R &I
Hexisin V- arsarr e
Hid fau 7Tt fadedl & © Ul IR BT 994 Difole ;

lLAIBICIIDIV
2ZAMIBIICIDIV
3JJANBICIVDIII
4 AIVBIIICIIDI
Options :
93806615929. 1
93806615930. 2
93806615931. 3
93806615932. 4




Question Number : 134 Question Id : 9380664094 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT: Match models of curriculum evaluation with establishment year.

LIST-I
Curriculum Development Model

LIST-II
Year

A.| Tylers model I. |1959
B. | States model II. (1991
C.|Scriven model II1. [ 1949
D. | Krikpatrick model IV.[ 1967

Choose the correct answer from the options given below:

I.LAODBICIIDIV
2Z2AIVBIHOCIDIII
3JJANIBIVCIIDI
4 AITIBIOICIVDI
Options :
93806615933. 1
93806615934. 2
93806615935. 3
93806615936. 4

Question Number : 134 Question Id : 9380664094 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Yal-1 & 1Y YI-11 D1 e DI RITHT 9 & 1Y Gidddhd Jedidh & Aisd bl Grferd

Gl
TIt-1 11
A.[CIER AISd I. 1959
B.| ey Aisd IL. (1991
C.|f&paTHTsd III. | 1949
D.|fhdUidd Alsd IV.|1967
- feu T fadett H 9 It SR Pl 99+ Sifo -

l.,AODIBICIIDIV
2AIVBIOCIDII
JJAINIBIVCIIDI
4 ATBIOICIVDI
Options :
93806615933. 1
93806615934. 2
93806615935. 3
93806615936. 4




Question Number : 135 Question Id : 9380664095 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-IT
. : Involves manipulation of independent
A.|Pre-experimental design L : S SHEER
variable with random assignment
B.| True-experimental design II. |Lack of randomization and control group
: : : Examines the interaction effect of
C.|Quasi-experimental design I1I. T .
multiple independent variables
: ; Lack of randomization but includes some
D.|Factorial design IV.

control

Choose the correct answer from the options given below:

. AIBIOCIVDIII
2ANIBICIVDII
JANMIBICIVDI
4. AIVBIIICIIDI
Options :
93806615937. 1
93806615938. 2
93806615939. 3
93806615940. 4




Question Number : 135 Question Id : 9380664095 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

el I
A | e oo [T e
B.| G- TN [Soiig IL. [TTefasd DT 3R 401 91g &I Sl
C.| TS fSosH IIL. gﬁa%aﬁ%ﬁﬂmumw
D.|HR®I f3umgd IV, WIIE.I gﬂmﬁa; P ;ﬁﬂ%@
A fau 7Tt f[ddedl & U Ugl IR &1 994 Difolg ;

lLLAIBIICIVDII
2.AINBICIVDIII
3.AMIBIICIVDI
4 AIVBIICIIDI

Options :

93806615937. 1
93806615938. 2
93806615939. 3
93806615940. 4




Question Number : 136 Question Id : 9380664096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-IT
Affective Domain Level Description
A.|Organization I. |Willingness to pay attention
B.|Responding II. | Showing a preference for a value
C.|Receiving II1. | Adopting a constant value system
D.| Valuing I'V. | Participating actively

Choose the correct answer from the options given below:

I.LAIODBIVCIIDI
22ANMIBIVCIIDI
JJAHNIBIVCIDH
4 AIBIOICIVDI
Options :
93806615941. 1
93806615942. 2
93806615943. 3
93806615944. 4

Question Number : 136 Question Id : 9380664096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 D1 e Hifoie:

- e
A | L |1 o Dl gesl/Hn
B. | TR &1 I1. [Hed o feig Trdffdhar i
C.|urg s 1L | 90 el YoTTel! SOl
D. |ed @Al IV. [HichT FgHIAIdT
-4 feu T fadett 7 T Ul SR &1 99 DIl .

I.LAOBIVCIIDI
2ZANIBIVCIIDI
JJAMNIBIVCIDII
4 ATBIHICIVDI
Options :
93806615941. 1
93806615942. 2
93806615943. 3
93806615944. 4



Question Number : 137 Question Id : 9380664097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
Platform for MOOC Founder
A.|Udacity L Eren Bali, Gagan Biyani and Oktay
Caglar
B.|Coursera I1. |Harvard University and MIT
C.|Udemy III. | Daphne Koller and Andrew Ng
D.|edX IV. | Sebastian Thrun

Choose the correct answer from the options given below:

L AIMMIBIVCIDII
2. AIVBICHIDII
3.AIVBIHICIIDI
4 AIVBIICIDII

Options :

93806615945. 1
93806615946. 2
93806615947. 3
93806615948. 4

Question Number : 137 Question Id : 9380664097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 D1 e Hifoie:

Moocaﬁi_rlﬂﬁfu?ﬁ ?Iwrul':iF
A.|3eifad L |33 dIfet, T f9arT 3R 3{idd BITeR
B.|HRRI I1. |g1dS fayfdened 3k THmsdl
C.|ggHh I1L. | ST PieR 3R UG Tuil
D.|USuay IV. | Ha1fEa Y4
I fau ¢ fad el H 9§ Ugl STk &1 99 Diforu ;

ILLAMMIBIVCIDII
2 AIVBICIHIDII
JJAIVBIOICIIDI
4 AIVBIICIDII

Options :

93806615945. 1
93806615946. 2
93806615947. 3
93806615948. 4




Question Number : 138 Question Id : 9380664098 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the functions of management

LIST-1 LIST-IT

activates the organizational methods to

A.|Planning I. |work efficiently for achieving
organizational purposes.

.y to bridge the gap between where we are
B.|Organizing IL. Wi N
= and where we want to be
C.|Staffing I11. [ to provide it with everything useful.
D.|Directing IV.[manning the organizational structure.

Choose the correct answer from the options given below:

L AMMIBICIIDIV
2.AIIBIIICIVDI
3,AIBIVCIHIDII
4. AIVBICIDIII

Options :

93806615949. 1
93806615950. 2
93806615951. 3
93806615952. 4




Question Number : 138 Question Id : 9380664098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & A1 Y11 B1 HeE DIfE: Sl uee Sl & SR 3 ¢

a1 -1

WTS-TdHS YASHl &I U 33 &

A.|FaieH 1. |TeTU gerar 4 &1 - g S e-TdS
faferdl @l i dHal g

. I8l 81 § 3R gl gH gl Iigu

B.|\ifloA U e o1 3R o BT/ Tre

C. | FHARGSHRT (XIhT) 1L | U IUANTT & 1Y Y UGH HRAl

D.|fgTH IV. | GT8THS YT Dl Ui Sl

i 14U U f[ddedl § U Ul 3R &1 94 Do -

I.AINIBICIIDIV
2AINBIICIVDI
JJAIBIVCIIIDII
4 AIVBICIDII
Options :
93806615949. 1
93806615950. 2
93806615951. 3
93806615952. 4



Question Number : 139 Question Id : 9380664099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT: According to Blake and Mouton’s Managerial Grid, Match

LIST-1 LIST-IT
A.|Impoverished Management L |55
B.| Authority-compliance II. | 1.1
C.|Middle of the Road IIL.|19.9
D.| Team/Earn Management V. 19,1

Choose the correct answer from the options given below:

l.LAIBICIVDIII
2ZANMIBICIODIV
3.JAOIBIVCIDII
4 AIVBIIICIDII
Options :
93806615953. 1
93806615954. 2
93806615955. 3
93806615956. 4

Question Number : 139 Question Id : 9380664099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y el 11 BT e PINIT s 3R G &1 UdHd i IS & 3R Gafdd o3

ELL 10
A. [ daftfa ey I |5.5
B. [ Wb R-3{UIcH IL | 1.1
C.|Ari H1HA II.|9.9
D.|Gd/3I5H U v. [9.1
+d faU 1T fddedl § U Ul IR &l 98- Difold :

l.LAIBIICIVDIII
2ANMIBICIIDIV
JJANBIVCIDIHII
4 AIVBIIICIDII
Options :
93806615953. 1
93806615954. 2
93806615955. 3
93806615956. 4



Question Number : 140 Question Id : 9380664100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-IT
Act Year
A.[National Trust Act I 11999
B.|PWD Act IL. |2009
C.|RCI Act IMI.| 1992
D.|RTE Act IV.|1995

Choose the correct answer from the options given below:

l.LAIODIBIIICIVDI
2Z2ZAIBIVCHIDII
JJANIBIICIVDI
4 AIIBIOICIDIV
Options :
93806615957. 1
93806615958. 2
93806615959. 3
93806615960. 4

Question Number : 140 Question Id : 9380664100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 DT e Sifeie:

st 1
A.|R1¥Tg g srfYfaaH I [1999
B.|Uiescygg! AfefaH IL. | 2009
C.| 3rRdtans fEfHaa I11. | 1992
D. | 3RdTS 3ifefran IV.[1995
- feu T fadedl # 9 Ut SR &1 99 BifSiU

l.LAODBIIICIVDI
2ZAIBIVCIHIDII
3JANMIBICIVDI
4 ATBIHOICIDIV
Options :
93806615957. 1
93806615958. 2
93806615959. 3
93806615960. 4

Sub-Section Number : 2



Sub-Section Id : 938066167
Question Shuffling Allowed : No



Question Id : 9380664101 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the passage carefully and answer the question that follows -

Phenomenology lies on the opposite side of the explanatory gap from computational theories. It is
the study of consciousness from the first-person perspective-how the world appears to me. There
is a long tradition of phenomenology in European philosophy and psychology, but it is sometimes
dismissed as a legitimate approach to the study of perception, because it is inherently subjective.
Scientific approaches are usually considered to require objective methods. However,
phenomenological studies can be performed using a variant of standard empirical scientific
methods, including hypothesis generation and observation. There are several key differences
between conventional psychophysical observations and phenomenological observations. The
convention in psychophysics is to keep subjects naive as to the purpose of the experiment, and
give them a well-defined task with highly constrained responses such as “yes” versus “no”. In
phenomenological experiments subjects are often fully informed about the purpose of the
experiment, and their task is kept relatively open with loosely constrained responses. Response
classification may occur only after the data have been examined. A key check on validity in
phenomenological experiments is intersubjectivity, or agreement among individuals about the
nature of their perceptual experience.

Sub questions

Question Number : 141 Question Id : 9380664102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Phenomenology is

1. a type of quantitative research.
2. an explanatory gap.
3. an example of computational theories.
4. dependent upon researcher’s perspective.
Options :
93806615961. 1
93806615962. 2
93806615963. 3
93806615964. 4

Question Number : 142 Question Id : 9380664103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In phenomenology, consensus among persons about a perception relates to the concept of:

1. Validity

2. Reliability

3. Generalisability

4. Usability
Options :
93806615965. 1
93806615966. 2
93806615967. 3
93806615968. 4



Question Number : 143 Question Id : 9380664104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In psychophysics

1. subjects are less aware of the purpose.
2. subjects are fully aware of the purpose.
3. tasks have more constrained responses.
4. tasks have less constrained responses.

Options :

93806615969. 1

93806615970. 2

93806615971. 3

93806615972. 4

Question Number : 144 Question Id : 9380664105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Scientific approach to research

1. can never be based on personal experiences.
2. usually to be objective in nature.
3. can never be qualitative.
4. always uses some statistics.
Options :
93806615973. 1
93806615974. 2
93806615975. 3
93806615976. 4

Question Number : 145 Question Id : 9380664106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a phenomenological study

1. hypothesis generation is never required.
2. empirical scientific methods are not possible.
3. scientific observation is used.
4. aim of the study is kept secret.
Options :
93806615977. 1
93806615978. 2
93806615979. 3
93806615980. 4



Question Id : 9380664101 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

fFrafefaa srgede o 9 3R wel @1 3w difeig:-

g - bl fasi, TvHTdS Risial 3 aredd 3oricd &I ol [quid fRrd g1 a8 Tus-
U 20 U -1 DI T § - o ot bl Udhe gidl g | JRIUN SRR 31R
TR  ©e T - fohdT fagTH 1 cidll GRURT 8, fohed I8 g R U M & 3T bl dY
el D =T H WIRS B <1 <1l 8, i Tg Adfifed T I favafg g1 aqrfis Aferal
U & wrEraqar o[y fafedl o srexd A Siidl g1 gidif, gedr - foban fage
Y URS AT Yol SR YUl Gfigd HHS T d3i-d fafeai & uiaeq &1 Ui
IR [Tied [P ol Uahd g | IRURITd HAIHIA®T el SR €30 U= Uefol & ol
dgd R T 3R § | AAHifdn! H Afdmdl ol Wt & GaieH I 3EINRI AT ¢, 741 35
vgl S T S it i UGkl & 9 G-uRyIivd Sr Gio=r g1 ge-T - fohar
fazr Hdeht uanT & oafdaal ol SRR 9aNT & 359 & 9R J guiaar Yfad fbar Srdr g, ik
3] B Glal-glel WiHd UTRl & WY 3{U&TdHd =9 H Gell 391 SIdl g | UdTR il
3fibgl o1 ULlefu fbu S o Ui g1 gfed gl Yobdl g | eI - foban fas et yant 4
e el Wi Siia/udierur, il & Udel I 3T &l UHhid & dR 1§ 3-d did
Ol 3Ydl HRATIHTD A B |

Sub questions

Question Number : 141 Question Id : 9380664102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

go - T fagm g -

1. BHD MY DT TP UHR
2. Uh ARATHD 3
3. WUHETAS il &1 Tdh 3GVl
4. TNYHdT b DI R R
Options :
93806615961. 1
93806615962. 2
93806615963. 3
93806615964. 4

Question Number : 142 Question Id : 9380664103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

?-Wﬁﬁﬂﬁ,ﬁﬂﬂﬁﬂﬁ%ﬁﬁﬁ@ﬁ?ﬁ%ﬁﬁﬂ%ﬂﬁﬁﬂﬁﬁﬂﬁw

1. dedl

2. fayaiad

3. Y-S0
4. YaIgdl

Options :
93806615965. 1



93806615966. 2
93806615967. 3
93806615968. 4

Question Number : 143 Question Id : 9380664104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HAHIfdH H

1. K] YIS & R H $I SRS gid g |
2. Al WS & SR H QUi SRS Bl gl
3. Bl & St Wild YGwR gid ¢ |

4. DAl & HH I TGTR 8ld 5|

Options :

93806615969. 1
93806615970. 2
93806615971. 3
93806615972. 4

Question Number : 144 Question Id : 9380664105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MY & U IAHD ekt

1. AT 3Hdl W bt ot iR 4T gidi 8
2. UpTa H WG a8 Bl &

3. o i oS I B gl ©

4. GHN Hquy TiRkeTd! Uged Sl §

Options :

93806615973. 1
93806615974. 2
93806615975. 3
93806615976. 4

Question Number : 145 Question Id : 9380664106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tl geT - far fage srega |

1. YR AT (A0 Sl 5= ol oldl o
2. NI aii-ieh fafeai gvd g1 g
3. A U&iul o gidl @

4. 3T PT I£ 3G W 3T &1l §

Options :

93806615977. 1
93806615978. 2
93806615979. 3



93806615980. 4

Sub-Section Number : 3
Sub-Section Id : 938066168
Question Shuffling Allowed : No



Question Id : 9380664107 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the passage carefully and answer the question that follows -

The etymology of the word allows us to see the child with a disability as fighting against the
odds. How high those odds are depends on many factors, of which type and severity of
impairment are two of immediate concern. Irrespective of these factors, the principle of the
teacher’s role as assisting the young person not to allow the problem to impede development is
attractive. The metaphor does not lie only with the child with the particular disability; in the
inclusive classroom it allows a picture of the teacher monitoring the learner, all learners,
irrespective of physique, internal bodily systems, psychological adjustment or intelligence.
Inclusion does not mean that handicap does not exist. If a disability handicaps performance in
any significant way then in those areas a specific attack needs to be made on how the problem
can be overcome. This may mean modifying curriculum demands and hence the need for a
critical, objective assessment of skills and strengths that can be built up. It may mean devising
and teaching strategies the child can use when faced with the situations they find difficult.
Focusing on these practical aspects of the learner’s needs will have the effect of lessening
thinking about the disability and more on the achievement of goals and increasing abilities. It will
also change the teacher’s attitudes. Inclusion will be seen not as an insurmountable challenge but
as a process of learning that affects everyone in the class and school.

Sub questions

Question Number : 146 Question Id : 9380664108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Challenges faced by a person with disability depend most on:

1. Attitudes of the society.
2. Degree of disability.
3. Socio-economic condition of the family.
4. Behaviour of peers.
Options :
93806615981. 1
93806615982. 2
93806615983. 3
93806615984. 4

Question Number : 147 Question Id : 9380664109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Inclusive classrooms are

1. related to children with disability only.
2. free from learner diversity.
3. focused on all learners.
4. usually an eutopia.
Options :
93806615985. 1
93806615986. 2
93806615987. 3



93806615988. 4

Question Number : 148 Question Id : 9380664110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Inclusive philosophy means that:

1. The teacher will not give extra time to a particular learner.
2. The teacher has to use prescribed pedagogies only.
3. The children with profound disabilities should be sent to special schools.
4. Irrespective of the challenge, the teacher will help the learner.
Options :
93806615989. 1
93806615990. 2
93806615991. 3
93806615992. 4

Question Number : 149 Question Id : 9380664111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a part of inclusion:

1. Increased thinking about disabilities
2. Modifying curriculum
3. Evaluating strengths
4. Assessing skills
Options :
93806615993. 1
93806615994. 2
93806615995. 3
93806615996. 4

Question Number : 150 Question Id : 9380664112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Inclusion in education refers to:

1. general solutions to all problems.
2. specific solutions to specific problems.
3. believing that disability does not exist.
4. a challenge almost impossible to overcome.
Options :
93806615997. 1
93806615998. 2
93806615999. 3
93806616000. 4



Question Id : 9380664107 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Frafafad srg=de @ ue oiR ual &1 3w gifrg:-

oG &1 Hd WR-1/Tes a9 gH faoai 91d® &l 39 ISR ¢@- | Jerddl ®Rdl ¢ (& 98
fangdrafl § und g1 a8 J141t food-il 991 €, I8 9gd IR dRbI IR (R dHar g, o
oIl BT UHR SR S141 HT IRAdT &l a4 Hgayui fAdid gl § 1 39 PRBI & dld9g,
R1& 1 YD1 T RiSid 39 U U 3dh e ¢ fdh 98 gdT Aidd Sl Ggiidl dd g fb
AW 34 (A6 H d1ed el o+ | T U ddd [d=1Y [Tl did dicid db UIfid gl o,
HuraRl B gg e o1 U €38 Ud SRl 8, Sl ARIRS, 3fidRe IR gorier,
TGS NS A1 §fGHd $1 URdTg fhu =1 gufi fRreonfigl of R &dr g
YU &1 95 314 181 ¢ T S141 o7 31f&ded g1 § | gl s [Goaivdl fbdt Tyl dfd 9§
TG | 9141 STeidl g df 34 &30 & G081 1 GHIHH - & (olu [9R1Y T S B Sexd
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TR1&onf SRexdl & 371 AdgING Y&l UR & dh-Ul Y faaitdl & 9R H fia- or qur a&d
I 3R &marail | gie IR i e g ag Rl & siitgial o o gikads sam
YHIAH 6l U gold IHId! & 4 H g1 dfch 3 31 ufhdl & U § ¢l S Gl Sl
D&l AR fqered 4 udd ol gHIidd Sl g

Sub questions

Question Number : 146 Question Id : 9380664108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et ferouiv cafdd gRT eI &1 &1 381 IHifaar sftipizraar fog R AR gidl 8

1. gHS DI il
2. AT BT &R

3. URGR &I gHIe$- 31 fRufa
4. QUG &Yl BT HdgR

Options :

93806615981. 1
93806615982. 2
93806615983. 3
93806615984. 4

Question Number : 147 Question Id : 9380664109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AN HET-HE BId &-

1. had [GauiT drdd! U defd
2. TRrgromeif fafqerar ¥ gaa
3. i Rreuniial @R bigd
4. YA U TGLdld

Options :

93806615985. 1
93806615986. 2
93806615987. 3
93806615988. 4

Question Number : 148 Question Id : 9380664110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAGR a=H &1 3§ &

1. FRrerap [l fa=iy fremonaf &1 sifafad w381 ¢

2. 2181 1 had fafgd RO §1 ST & §

3. 3 TGaaiTar ardl d1dd 93 [deredl | Yol S =1igu
4. I D1 WRarg Tt for e, Rigmondf o ggradr dom

Options :

93806615989. 1
93806615990. 2
93806615991. 3
93806615992. 4

Question Number : 149 Question Id : 9380664111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad § U SIF 91 GHERIAr &1 4T Tol o2

. Teaiarsii & 9 | i [Kad
2. UTGIG] U0 Al
3. QIfdd JATH B
4. DI THad AT
Options :
93806615993. 1
93806615994. 2
93806615995. 3
93806615996. 4

Question Number : 150 Question Id : 9380664112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



21T H AR &1 31 8-

L. gl Ersll & AHMA GHIEHE
2. fafRw gawre & [y gaa™
3. TaYIT &A1 [ [SaivTar &7 3idd el o
4. U AN, TSRY UR UHT ST 34 §

Options :

93806615997. 1
93806615998. 2
93806615999. 3
93806616000. 4



